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with explanatory answers and clues.

9. Noté what the questions are about.

* Including all types of questions. ||
* .-Izz_cluding_"La_test Fié)e-ﬁigyi'e-.Reas'onikgl"-' |

' 7. COMPREHENSION—I
" (Long Passages) .~

. To comprehend means ‘to indeérstand and grasp’. A COmprehensidn:é:iéréisé is, therefore, :

meant to test a candidate’s ability to understand and retain’the contents of a given.
passage. RS T S T e i .
Trend of Questions : T _
In this type of questions, generally ‘a' long passage ‘consisting of certain paragraphs is
given, followed by 10—15 questions based ¢n it. The questions may be based'on: . ~. =
(i) “Theme of the passage T : K .

(ii) -Choosing the correct’ or wrong statément on the basis of the given passage

(iii) View of the author regarding the-main point diseussed in the npassage -

(iv) Synonyms or Antonyms of some.selected_WordS in the passage..”

“Technique of Solving :

1. Read the passage carefully once and detect its theme.

3. Answer the questions. . ST o . R

*In questions. on Synonyms & Antonyms, what is fo be remembered is that the answer is
to be given according to the sense in which the word has been used in the passage, not -
just on the basis of its literal meaning. - - - T

.‘—Examplé': Read the following passage-and’ an#wer ihe-'questiqns that follow P
“Nature is like business. Business sense dictates that we guard our capital and live from

the interest. Nature’s ‘capital is the enormaus diversity of living things. Without .it, we -
cannot feed ourselves, cure ourselves of illness or -provide industry with the raw materials

. “of wealth creation. Professor Edward Wilson, of Harvard University says, “The folly our _i

descendants- are least likely to forgive us'is the ongoing loss' of genetic- and .species

diversity. This will take millions of years to correct.”’

Orly 150 plant species have ever been widely cultivate\d.'-Yet over 75,000 edible pla'nt's»a_re

 known/in the wild. In a hungry world, with a population growing by 90 miliion each year, .

so much wasted potential is tragic. Medicines from the wild areé worth-around 40-billion '
dollars a year. -Over 5000 species dre known 'to yield chemical with" cancer. fighting
‘potential Scientists currently estimate that the total number of species in the world is
between 10-30 million with only around. 1.4 million identified. . o

The web of life is torn when mankind exploits natural resources in short-sighted ‘ways.
The trade in tropical. hardwoods can destroy whole forests .'to _extract just a few
commercially attractive specimens. Bad ‘agricultural practice triaggers 24 billion tonnes of
top soil erosion a year losing the equivalent of 9 million” tonnes of grain output.: Cutting
this kind of unsuitable exploitation and .instituting' “sustainable utilisation” will ‘help turn
the ‘environmental-crisis around. [T - T
1. Why does the author compare ‘nature’ to business? ] _
E (a) Because of the capital depletion in nature and business .
-(b) Because of the similarity with which one should use both
~(c) Because of the same interest level yield '~~~ ' _
.(d) Because of the diversity of the various capital inputs L. LT
2. “The folly our: descendants are least .likely to forgive us.”” What is the business
" equivalent of the folly the author is referring to? S ' :
~ (a) Reducing the profit margin ST
(b) Not pumping some money out of profits into the business. .
(c) Eroding the capital lease of the business S '
(d) Putting interest on capital back into the business

-3, Which of the following statements is false in context of the given passage? ... -
(@) The diversity of plant life is essential for human existence. S
" (&) Scientists know the usefulness of most plant spezies. ~ ~
() Chemicals for ‘caricer tredtment are available from plants,
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@ There are around ten: tlmes the plant spectes undxscovered as compared to.
the discovered ones.

4. Which’ of the. following correctly reﬂects the opinion of th -
" Rnger In the world? © p on of the author to ‘take care of

" (a) Increase the number of ed1ble plants bemg cultwates

-(b) Increase cultivation of the 150 species presénily uuder cultlvatxon
. (¢) Increase the cultivation of medical -plants.

*.{d) Increase the potentxal of the uncultivated edible plants" .
"_plant speaes" o

" (a).Soil Erosion (b) Destructlon of habxtat
(¢) Cultivation (d) Ag'ncultural practxces

Dlrechons ; Choose the word which is nearl same - .
:_ as _!_tsed e e meseage , y. in mearung to the given word

" (a) Consumed

) ,-(b) _Squandered
. () Unutilised

(d) Unprofitable

_TRIGGERS R

- (@)Starts - - .- - (b) Makes e

- (c) Results - . ' (d) Causes: - ..
WORTH T
(@Cost .+ . 7 ."(b)Purchase
{c) Deserving = e 7 (d) Sell

Directions : Choose the word whwh is nearly oppos;te in. meamng to the gwen

‘-"word as:used in the passage _

8. .CUTTING
@y Umtmg

(b) Increasing
:(¢) doining

+(d) Combiaing
() Relieve )
(d) Release

(a) Demolish '
- (c) Consume.
Solutlon L

Accordmg to the author, just as in busmess capxtal 18 kept safe and its mterest :

e his behefit and not destroy the bountxes of nature
“2.(0): Same clue as Q. 1. DR

, " N , .
The author’s statement that some plant vanetnes are. edlble, some have
medicinal uses, some varieties yield cancer fighting drugs uses, some vanetxes
yield cancer ﬁghtmg drugs etc. Confirms (a).

The ‘author’s statement that over 5000 s ‘
pecies are known to. eld chi
_ with cancer fighting potential verifies (c). ¥ c emlcal

-:According  to the passage,-the total number of plant specxes 1s 10—30 mllhon' .

_and that of those identified is 1.4 million. Thus; @ is correct

'4.(d).: - The author says that out of 75, 000 .edible plant species, only 150 are cultxvated '
So, to take care of hunger in-the world the potentlal ‘of uncultwated edlble

species should be increased.

" 5. (b) ;. The last paragraph of the passage glves us the answer -
. )

"The author talks about cultivating only 150 specles out of 75 000 a8 ‘wasted‘
. potential’. Thus, ‘wasted’ means ‘untilised’: '

o, (d)y: "Trlggers as used i in ‘third paragraph means causes

8, (e} ‘worth' as used in second paragraph means. ‘desemng’

' ,1ncreasmg

_ 8. Which of the following is mentmned as the unmedlate cause for the destructxon cof.

- is utilised, similarly. man should increase the potential of avallable dwersnty for :

“Cutting’ -as. used m last sentence means reducmg' So, oppos1te of 1t 1s .

i _Comprehenszon—l
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10._ (a): ‘Guard’ as. used in first- paragraph means ‘protect’ So, opposxte Vof it is

Directions ;: Read the followmg pauage care;"ully -and answer the quechom gwen '

below it. Certain wordslphrases in the passage are printed in uaucy to help you

_to locate them while ancwermg some of the questwru
: .Passage 1

; (s. B I.P'O 1994)
Today the import duty on.a complete

. machme is 35% for. all practlcal purposes,

whereas’ the import "duty on the - raw

" . materials and components ranges from 40%

to 85%. The story does not end here. After
paying = such high  import ‘duties ..on
components, once a machine . is. ‘made; it .

‘suffers exclse duty from: 5% to. 10%

(including on the cuastoms. duty. already

.paid). At the time of sale, the machine

tools - suffer further’ taxation;i.e., central
sales tax or state sales taxes which range
fromi 4% to-16%. This much for the tax

angle. Another factor which pushes the cost
.'of manufacture of machine tools is the very

high rate of interest payable to banks

rangmg, upto 22%, as against - 4% -1% 4

prevaxhng in advanced countries.

The production of machine’ tools in
India being not of the same scale ag it is
. in other countries, the price which India’s -

machine tools builders ‘have to pay. for
components is .more .cr léss . based - on
pattern of high pricing applicable to the

-prices of spares. The above represents only 7

a few of the extraneous’reasons for the-
high cost.of Indian machines.
'I‘he machine tool mdustry in lndla

has an  enviable record of . very quick -
. technology ahsorption, assimilation- and

development. There . are a number of

-success stories about’ how machine tool
. builders were of help at the most critical

* times. Jt will be a pity, in. fact-a tragedy, if.

" we allow this mdustry to dxe and dxsappear

. from the scene.. - ;
i It s to “be moted that India is at '
least 6000 km away from any dependable
" source of supply of machine ‘tools.’ The

Government of India has always glven a

. ‘great © deal -of importance the
‘development of small scale:.and medlum '

scale industries.. This industry “has also

performed - pretty well. Today, they are’in .
" ‘rieed -of heélp from India's machine. tool -
""mdustry ‘to enable them to produce quahty-» s

components -at reduced costs S st
anybody’s - case that ‘the needs “of - this
fragile sector (whlch néeds tender care, will
be met from 6000 ki, away’! )

Then, ‘what is it that the mdustry
requests. from -the ‘Government? It wants
level playing field. In fact, all of- us must

have a -deep introspection and recognise

the fact that the machine to,ol industry has

.a very special place ‘in the ‘country from
the point of strategic and vital interesis of -
‘the nation. Most- important, 1t nequests for

"the Govt’s consideration and understa.xdmg )

1. According- to the passage,’ assemhlmg

imported components ‘into machmes- ; k

proves ultimately -

(a) cheaper than xm_
machine ~ . -0 7

“(b) costlier than lmportxng machme

(c) more cost eﬁ'ectlve than importing

: 'ng ' complete

. machine .
" (dyon.par with the cost of lmparted'
machine -
(e) a very etupendous and unmanage-
able task -

" {a) hlgher 1mport duty . 8P
(b) éxcise duty oo
(c) bank’s rate of. mterest ‘on loans. for
manufacture
(d)lngh profit margm expected by
. -manufacturers’ -\ i )

- {e) sales tax. : Do
3. If the bank’s rate of mterest in Incha is
made-‘on par w1th
- -ccuntries, the ‘cg _" [ _;

_ machine tools 77
o (a)maygoup by ¢ about4to %
. (b) may increase by ‘about 22%. .
" (c) may decrease by-about 4 %o 7%

hy about 15to 18%

" industries’ help to gniall seale mdustry is
most hkely to result into

in advanced-
ufacture of

‘'same due bo unport

Indxan machme tool -
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(@)i mcrease in the demand of 1mportcd' '

- machine tools

" (b) deterioration in the quallty of -

. components manufactured by them

(c)further increase in the customs duty -

-on imported machxnes

(d) enhancement in the quahty and'
quantity " of their. . productmn at a',_f..._',_

cheaper ‘cost .

(e) severe competmon among the small -

‘and medium scale industries -

5. lWthl‘l of the followmg is true in the_.

context of the passage?

_.(a) India’s machine tool. mdustry has a ...
- pralse—worthy record. of perfor- :

mance.

('b) In ‘critical times, the machme tool
builders allowed the mdustry tc-}_

~perish.

(c) In the case of machmes the exclse -

dutyis lévied oaly on' the'cost price..

(d)India’s quantum of - productlon of. -

machine tools. s more than that ‘of
other advanced countnes
(e) None of these :

6. The dlspanty in the quantum of machlne
" production in India and that in- other )

countries leadsto - -

" (a) the development of. small scale and o

medtum scale industries

“(b) lethargy in the process of absorptlon )

" -and -assimilation of new techriology
(c) 4 need to pay hlgher for components
" and spares.
(d) overproduction of machmes “as
compared to the actual need.

le) the necessity ‘to export’ the: machme .

from India to other countries '

7. Which of the followmg ‘statements ‘s
definitely true 1n the context of . the.

passage" R
A. The vital role of Ind1as machme tool
industry - "has’ nof . .been duly
L recogmsed by the Government.
B. Small scale’ industries” perforrnance
" cafi be further improved with the help
from.Indian machine tool industry. :
C. The author of the passage has not’
-+ discussed .all 'the factors ‘Which -are

* responsible.. for high cost_ of. 1nd1an

'-machmes . -
(a)A&B (b)A&C (c)B&C
() All of these .~ (e) Nore'of these™ "

8 ~Which of the- followmg best explams the
sentence ‘It wants a level playmg ﬁeld' as

:-'Passage 2

o Objective General Englis'h'

" 'used’in the passage" The machlne tool
~industry in India :
- (@) wants to adopt novel marketmg
., i strategies for sale promotion
i (b)seeks to have small scale mdustry
‘as its patron

) components at a low cost -
* (d)needs’ Tand ° for openmg -~ more

o (e) None of these -

9. Why do small and medrum scale :
: mdustnes Took for Lelp from Indlas .

machine tool mdustry"
(a) To - produce low cost - components'
‘without dilution in quality’

'(_b) To' -produce cheaper . componerits o

noththstandmg the poor quality
:* (¢) To remain in Governments' focus of
- attention .

. status .
¢ (e) None of these

. 10. Which of the following 1nferences can be -

drawn from the content. of the passage? )
(a) The.” Govt. -of India . has - duly

. recognised the role of machme tool‘

- industry. - .

" (b) Levying heavy custom duty
absolutely necessary.

() The - Govt. of India was not

con51derate to -the difficulties faced

by machiné tool industry.

o ”(d) India should not waste its preclous.

" .‘resources’ on the productlon of

machme tools. o ERe

"(e) Banks in - other countnes are

runnmg in. loss owmg to ‘a low .

- mterest rate.

. 11 -Whiich of the followmg is the’ prmcipal

-',_focus of the content of the passage" 3
{a) Reduction in rate .of mterest on
" loans to machme tool 1ndustry

: (b) Indian machme tool industry- and its .

.vital role in country’s development
.i'(c) Encouragement to small and mlddle
. scale‘industries -
@ Unrealistic strategy of development
.- oftechnology - - :
- (e) Exhorbltant sales tax :

Mohvatlons for rurallsm in’ under

- _developed ‘countrie§ are understandably ’
different from those in ‘developed . countries. .-
There,. it is a “sheer physical necessﬂ:y" for | .-
-,the very act of man’s survw"tr In the Thxrd S

@ ‘needs freedom t» import the desmad

factones : o A

(d)To 1mprove the1r poor ﬂnanclal:'

Lomnprenenswie

World countries, which  are - predominartly
rural, the only lever that can lift human

_life above its present subhuman level, is

rural development. Rural life- in . such

. countries has been stagnatmg for countries-

on end. Nothing worthwhile-has. been done
to ameliorate 'the conditions of the rural

. population_which is only sllghtly different
" from that of their quadfuped counterparts.

Ignorance, ill  health’ and poverty  have
become synonyms of rural life -in the
undeveloped and - underdeveloped ¢ountries. -
But = the worst tragedy ~is. that the

concerned  human popuiations have taken '
" this. state ~ of -affairs for granted, .

something unalterable, somethmg for Whlch
there is no remedy. Every ray of hope has

"gone out of theirlives. In. such- countries, .
. ‘Rural Development  is the inevitable
“condition of any material or non-material

advancement. As such, enlightened sections
of all such countries have been taking ever

‘growing, interest in the: question of - Rural

Development
This was also part of the. legacy .of

theéit freedom struggle In countries like
India, - it is. well-known that_ attempts -at -

Rural ' Development- were an . inseparable

" part. of the, ‘Independence ~movement:-
" Leaders like Gandhiji realised quite well

that Real India lived in her stagnating

. villages. Cities, which “were mostly the »
'products of Western: colonialism, were just-
-artificial showpieces. Even there, “there

were two worlds. The. posh areas, where

‘the affluent-few; mostly.the products and

custodians of imperial interestlived, were
Lttle islands engulfed by the vast ocean of

dirt, represented by ‘the vast malorlty of .

people.
Cities were by o means unknown to

.Indla but in " ancient India, they were

integral parts, __orgamcal_ly ‘related to .the
rest ~of .the -country and society. But,
modern cities .are exotic centres of

commercial - and : industrial exploitation. -
" Citie$ -in ancient- ‘India weére the flowers ‘of
‘cultural and attistic excellence ' of the
nation, modern cities- are just para51tes,'

prey‘mg on ‘and debLlLtathg the country. . -
Hence Gandhul started the ‘Go to
Vlllage Movement’ which “alone, accordmg

.* to him, could bring freedom to India and
h sustdin it. Rural Development had_ the -
"'pnde of place dn his strategy- for the

PN

natlons freedom Thus it had 1ts orlgm in
the freedom struggle.
1. People are- taking growmg 1nterest m_
Rural Development because
" (a) nothmg worthwhile ‘can be done in
" the near future _
_(b) they have now become optxmlstlc .
. about it
‘(c) they have reallsed the lndlSpens—
-ability of it.
(d) they - have’ been suﬂ'ermg from -
- severe health problems .
‘2. Which of ‘the following is the ‘lever ‘
.. according to the passage? -
(a) Upliftment of the rural masses . _
(b)Enlightenment of: certaln sectlons of
the society : ‘
(c) Non-matenal advancement .
- Ad) Stagnatlon of rural life .

3. Whlch of the followmg is the worst
tragedy according to the author? . -
(@) Lack of . realisation . ‘of- the

importance of rural ‘development
. (b) Exploitation of the rural people by :
* the clty-dwellers

(c) The subhuman condltlon of the

_ .people . .

(d) The pes51mlsm of the rural peeple

. ‘about their own conditiuns.

4. Which of the followmg statements is not -
true in the coritext of the passage?

(@) Most of the rich people. dwelling 'in
‘modern _ cities - - are _.genuinely .
concerned about rural development

(b) Rural development isa pre—requls\te
. of any other ‘advancement and progress. _

: (c) The rural folk -in the Third Wosld
_ counitries feel that their subhuman
. condition cannot be improved.

(d) Only rural development. can raisz
the standard of living. of ‘people in.

. " the Third World countries, .

5. Rural Development was considered as a

* part of Indlas freedom movement
because S .
(a) Gandhiji -was agamst the Western :

: colonialism. . - :

(b) real India -was then under the
British rule. -

- () 1mper1al 1nterest "lived only _in

wllages
“ (d)the country- compnsed “of mamly
‘villages. . - -

‘6. 'The standard of hvmg of lluman_bemgs :
in the Third World countn_es is - ‘
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: (d) immijitié to any ithprovement -
7. Im whxch .of the Tfollowing aspects were
) the ancient Indidn mtles dlﬂ’erent {rom -
-~ the modern énes?.
(a) Wealth
- {c) Trade and Comimerce .
(d)Oneness with the socxety
(¢) Posh localities” . ..~ -
8. Which of the following best descnbes the
- two, divergént worlds of the modem
: cltxes" . L
(o) Commercial © -and
"~ exploitation '
. :(b) Patroris - of western products and
éustddians of: imperial interests
©) A few nch people and many poor
- people . .
(d) Posh-dre& and aﬁluent people . -

. _1ndustnal

'9. Which of thé following statements is true :

in the context of the passage?
- (@) The rural folk are -very ‘optimistic
1mprovement in their

“condition.- i -
) In the present context, ignorance,

poverty © and ~ ill health -are.

inseparable parts of rural life:
" (¢) Most of the¢ Third World countries
: dre undérgoing fast urbanisation.

- (d) India’s - struggle for freedom has
been; consxdered as a part of rural -
develdpment ‘

Dxrectxons ( Questwns 10-19);
‘Choose  the word wluch is: most nearly

the same in, meamng as the given. word

as used in the passage.
10. PREDOMINANTLY
- (a) éxtratordinarily (b)mostly
. - - {t)forcefully (d) undoubtedly
BV I "ENLIGHTENED :
o (a) clearly visible,. (b) shmmg bnghtly
(c) économically prmleged
-~ (d) fully g awakened
" 12. SECTIONS;
.. - (a) groups of people
- (b) combination'of units .-
.+ {¢) collection of thoughts - -
' '(d) assembly of spectators -
Directlons ( Questwns 13-15)

L Choose the _word which is opposite in.’

meamng to the gweh word as used m
“ the passage. .. - . L
18, AMELIORATE o .

(a) Expedlte ®) Hasten' e

\

- (b) Growing populatxoq -

B UU_]E(.'HUE wrenerar SLugusn

(c)-Worsen. e

_ '(d) Lesseu

14. .ENGULFED i e

(2) Disfigured . . (b) Dlslocated
] (c) Different -~ ' :(d) Detached

15. DEBILITATING .
* () Inhabiting : (b) Strengthemng
(c) Enfeeblmg ) Ochoymg

. Passage 3" (BankPO 1994)---. i

Although cymcs may like to see the.
governmenta policy for- women in terms of )
the party’s internal power struggles, it will
nevertheless be  churlish to 'deny that it

represents ‘a pioneering effort aimed at’

‘bringing about siveeping social reforms. In- - |
- its language, scope and strategies, the’
policy document displays a degree aof -
'understandmg of women’s needs ‘that is
uncommon in government pronouncements.
This is due .in large part to the

participatory process “that - marked. its
formulation, seeking the active involvement

right from” the start of ‘women's groups,. - »

academic institutions and non- government

"organisations with ‘grass -roots experience.
The result is not just a lofty declaratior of -

principles but a blueprint for a practical
programme of action. The ‘policy delineates

a .series of concreté measures -to .accord -
‘women a. decision-making role in’ the

political - dvmain "and. greater  control over

. their - economic . status. ~OF . especially
. far-reaching impact are ‘the devolution .of

control - of . economic infrastructure  to

_women uotably at the gram panchayat. ’
level, and the amendments proposed in the
Hmdu Successxon Act of 1956 to give -

women coparcenary rights.

" An enlightened aspect of the polxcy
is its recognition that actual change in the

’ _status of women can not be brought about

the meére. enactment ‘of - socxally
progresswe legislation. . Accordmgly,

- focisses on reorienting development progra-

mmes and sensitising administrations -to -

*.address specxﬁc situations as, for instance,
“the growing number of households headed
"by. -women, which is a consequence of
“rural-urban: nugratxon The proposal to.

. -create an equal- opportumty police ‘force- and

give women greater ~control uf polxce
" stations is' an .acknowledgement’ of the

“bxases ‘and callousness displayed by ‘the
. _generally
" -authorities in cases of dowry and- domestlc,‘ :
" violence.: While the mere enunciation of

‘all-male’ law-enforcement

Com'p'rehension-l

such a  policy has ithe salutary effect of
sensitising' the administration as .a whole, '
it - does not - make the task “of

1mplementat'on any. easier.- This is because

the changes it envisages in the political
- and-economiic status of women strike at the
" root of power structures in’ society and ‘the

basis. of mian-woman relationships. There is
also the danger that reservation- for .women
in public life, while necessary for their

-greater vigibility, could lapse into tokenism

or become a tool.in the hands of wvote
seeking ‘ politicians. Much will depénd’ on

. the dissemination -of the. policy and the

ability - of elected * representatives and
government agencles to . reorder their
priorities. .
- 1. "Which of the followmg can be inferred
from the passage?
(a) Most - of the government’s pollcles
are formulated through partlclpat-

‘ory process
(b) There is need for strictér leglslatlon

(c) The pollcy recommends reservatlon
: for womer. \
(d) Domestic \nolence ison ) the rise.

(e) Women already had coparcenary'

. rights.

; 2. _Whlch of the followmg is true about the.

policy?
(a) This is another pronouncement by
. the government
- (b) It is:a pioneering effort.
(¢) It'is not based on the understanding
‘ of woman’s needs. -
"(d) It has miade many big declarations:
(e) In . its - formulation, partlclpatory
approach was not followed.

8. According to the passage, which of the

* following is a- consequence of rural- urban
. igration? :
(a) Legislation is not enforced properly.

" (b)Many. - womien migrate to urban
areas leaving the1r famlly in the
rural areas.

(o) Industnes do not get sufﬁment
manpower in rural areas.

(d) Development programmes dre not

. effective. . - . _
" (e)None of the above . ' -
4. Which of the following: is  one of the
o far-reaching impacts of the policy?
i (@) Give women coparcenary rights
(). Reservation for women
N (c) Creatmg an equal-opportumty pohce
’ force :
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(d) Accord women ‘a declsron makmg '

role in political sphere:
(e)-None of the above - .
According to the' -passage which’ of the-
following is not true? G

-(a) The policy -gives ablue pnnt for

. programme of action.

. (b) The women should be g:veu. greater

control of policeé stations.
(c) There is no 1aw~enforcement blas in-
cases of dowry. : -
(@) For effective ° lmplementatlon, the-
govemment agencies wilt have to
- reorder. their priorities.
(e) The pOlle is based ' on " the
understandmg of the needs of
" ‘'women.

. Which of the l'ollowmg ‘as the danger of

becoming a token?
(a) Socially progressive legrslatlon

. .(b)Policy for women' .

(c) Coparcenary nghts to women
(d) Man-woman relationships

- (e) Reservatlon for women

' (e) Undignified .
. Which of the followmg words is the most' .

10.

1L
- following aspects has been identified as,

" (@) Limited
(c) Acceptable -
" (e) Inconclusive .
. Which of the followmg is nearly the same ..

. Whlch ‘of the. fo_llowmg 1s' opposite in

meaning to lofty’ as used in tha passdge?
(a) Sublimated (b) Humble
{¢) Inferior . (d) Exalted

opposxte in meaning to sweepmg’ as used .
in the passage?

(b) Half-hearted

@ Incomplete _

in meaning as’the. word ‘devolition’ as .

" ‘used in-the passage?

"(b).Succession -

(a) Relegation -
. (d) Decentralis ation

(c) Déployment -
(e) Revolution ~

Which of the followmg words is most -~
~ nearly the same in meaning as, the word ..

‘enuricigtion’ as used in the passage? .

(@) Suggestion .. (b) Formulation . -
(¢) Recommendation ) Proclamatlon ‘
(e) Recogmtmn L

According to'the’ .passage, which of' the

; it alone  would not brmg change in the
‘'status of women?
(a) Coparcenaryrights to women . o
(b) DeclSlon makmg role in’ po mcal_

" area - '
(c) Greater control over eoononzxc statis”

(d) Creating equal opportumty pohce o

force
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(e) Enactment of socnally progresswe_'

legislation. .
12. Which of the- followmg is the most nearly

the same in meaning to’ ccllousness as

used in the passage" e

(a) Prejudice . . (b) Insens1t1v1ty
(o) Obl1qu1t1es © (@) Casual
(e) Superiority

. 13. Which of the following is nearlythe same .
-in meamng to the word ‘delineates’ as

‘used in the passage? ~

: (a)Dls_cus_ses (k) Demarcates
" (c) Suggests. -+ d) Outlmes
_(e) Propagates -

14. At which stage were the’ grass-root level
- organisations involved for the pohcy?
(@) After the interim report
(b) From the start ‘
‘(c) At the final stages
. {d)Not mentioned in the passage
. (e) None of these..

- 15. According to the passage, which of the

- following is the basic’ block in the
effective implementation of the policy? -
(a) Prevalent power structure in soc1ety
(b) Inadequate legislation

fe) Insensitive administration
(d) Lack of political will

“(e) Male . dominatec . -law-enforcing
-authorities. ) "
Passage 4

A great deal of dlscusswn contmues.

as’ to the real extent of global- -environ-

mental degradatlon and ite ‘.xmphcatlons .

2 What few people challenge however, is that
the - renewable natural --resources ~ of .

‘developing - countries are. today ' subject to

- stresses of unprecedented magnitude. These,
pressutres -are brought about, in.part; by
_increased populatlon and the “quest for an

ever expanding -food supply. Because the -

‘health, nutrition and general well- beéing of
the poor majority are directly _dependent on
the integrity’ and productivity.. of . their
_natural . resources, the  ‘capability of
governments to manage them effectlvely
over -the -long term becomes of paramount
" importance..

: Developrng countnes are becommg

_more awaie of the ways in which present-
and future economic develspment ‘must .

build . upon’ ‘a “sound and- sustainable
,nat.ural resource base. Some’ are looking at
our - long  -tradition = in environmental -

protection and ,"are_‘ receptive, - to' - US

' ._assmtdnce which recogmses the umqueness

" and . Thailand, - are  now

Objective General Engltsh

-.of- the social . and ecologlcal “systems .in
: these tropical :

countries. . Developmg
countnes recognise the need to improve

their capability to analyse issues and their .
" own natural resource management. In

February 1981, for example AID funded a
National Academy of Sciences ' panel to

-advise "Nepal on" their. . severe - natural

resource' degradation . problems. = Some
countries such as Senegal, Indid, Indonesia
: including
conservation - concerns. in their economlc
,development planning process. - .
" “Because S0’ many governments of

developing mnations- have recognised the E

1mportance of these 1ssues, the need today
is - not’ merely one of raising additional
consciousness, - but for carefully designed
and sharply focussed activities aimed at-

the.- establishment of - effective “resource -
‘management regimes that are essential to

the achievement -of sustained- development
" 1. Some of the developmg countnes of Asia’
.- and Africa have .. )
(a) formulated  very ambmous plans of
. protecting habitat in the region

“(b)laid. a great .stress on _the_
- conservation of natural resources in -

their educational endeavour

oy carefully ‘dovetailed envrronmental :

conservation. .with . .the- " overall
' -stratégy” of planned’ econor‘nic

development -
"(d) sought the help -of Uo experts in
solving the .. problem .. - of

" environmental degradation:*

.-'2.'-Techn1cal know-how developed in the ,'

. UsA

{a) cannot be" easlly asmmllated by the
technocrats _‘of - the developmg
countries -

(b) can be properly utilised on'the basm
of developmg countries being able to. .
launch an in-depth study of thelr

- specific problems” .
© can - be easily borrowed - by the
/ developmg countries’ to solve: the
problem - of envn‘onmental
‘degradation . .

(d) can be very. eﬁ'ectlve in solvmg the

= problem ’bﬁ-resource management in

C troplcal countries

3. There, ! has . been

because of

) pronounced c
deterioration of hab1tat all over the globe .

: Comprehension-l'

(a) rigorous- - -operation’ - of . the
Malthusian principle’ T
b) u-lprecedented urbanlsatlon and °
dislocation of. self contamed rural
commumt1es
(c) optlmum ‘degree of mdustnahsatmn
-in' the developing countries -
_(d)large scale deforestatlon : an’d
. desertification
4, ~The poor people of the develonmg world
- can lead 2 happy and contented life if

(a) there is a North-South dialogue and

aid flows freely to the developmg

. world.
1)) industries based on agnculture are

'widely developed.

» (c) econhomic development takes place .

_ within the ambit of conservatlon of
patural resources. - .
- (d)there is an assured supply of food
and edical care.
" 5. How much environmental pollutxon has

‘taken .place. in the developmg and the .

developed world? -

(@) There has been a margmal pollutlon .

. of environment in thé ‘developed
. world and extengive damage in the

developmg world.
(b) There has. .been: a con51derable

* pollution of env1ronment all over. the o

globe.
(c) There - has '’ been an extenswe

- environmental degradation ‘both in | .

. the developed and the developmg

} world. )
(d)'“he enwronmental pollutlon that

* has ‘taken place all ‘over the globe

continueg - " to- be a matter ° of_

speculatlon ‘and enquiry.

.Passage 5.

recent artlcle on ways to strengthen Indlas

economy - has - - drawn - attentlon to. the: o
problems  of - inflation "and industrial
" sickness among other: things. One of ‘the :

‘main reasons for’ mdustnal smkness in ‘our
- country has been the fact that. business
"and  industrial - managers, have’ -not been

able to ook beyond the iminediate future.

They have been' too preoccupied with their. .
attempts “to’ report favourable results for . -
the current yesr-. hlgher proﬁts and larger .
dividénds : to the share . holders.- The. - -
plansning horizon .has hardly ever exceeded
Investments' have  béeen .

five years.

" without concérn.

(Bank P.O. 1994) :

A leadmg Indian mdustnahst in a’

ave

1nadequate for ‘new p"\nts and towards

',dlver51ﬁcahon and -expansions. - Modernls--

ation and asset creation has. seriously
lagged  behind.. In . business, growth is

. needed for surv1val one has to grow if one .
" does not want .to be wiped out." This is:
"particularly -true today with liberalisation
- of imports - and ".increasing. competition.

" More over, growth ‘and higher productivity -

create employment and’ higher employment
creates ‘larger- markets: both for industrial’
and' consumer products It was Henry Ford
who- brought . hamie  the | need - for the -
creation. of: a larger and -a- more, stable

" middle ‘class; that is, -a.-larger nuiriber of
: people .who can’ afford more ~and -more of

goods and - serv1ces Even after -forty years
of 1ndependence our industrialists- have. not
been. able to ‘shed the petty shopkeeper’s

": mentality and - ‘our = highly  ~educated

manzgement has tagged along’ memly and
(Bank P.0.19%4) :

1. Whiéh of the following short comings-of
“ Ingian’ :industrialists - has been
- h1ghhghted hy the author? -
. (a) They: ‘invest unreasonablé high -
amount on ° diversification and
. expansion- :

(b They are more _concerned = for
mmedlate net = gains | than for.
developmental activities. - ‘

(c)- They are reluctant to mamtam the
shopkeeper ‘mentality. :

(d) They -are less concerned for payment
of d1v1dends to shareholders

- (e) Noné of the above

" 2, The «leading industrialist attnbutes

. industrial sickness mainly to
" {a)lacunae in five-year plans -
(b) preoccupations. of managers with
matters. unrelated to business ‘
- (c) higher profits and larger d1v1dends
‘to sharehiolders . : :
.- (d) lack of foresight’ among managers
) inflation - "and". _other.. economlc
. “problerns
3. Accordmg to the passage, growth and
- inéreasing productivityleadto -~

(a) impositior of restrictions on 1mports .

(b) employment and thus prcmde an
“outlet to 1ndustr1al and consumerr )
- products . :

. consuier goods ;
@ dlsproportlonate ‘

surplus '. Of.
‘¢ommodities. - : e

'(c) encouragement to export of excess S
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'Passage 6

pevae]

Why did enry,; Ford st:ress the need fora
. more stable middle class?
“(a) They dre mostly service oriented.
(b) They: - .do _tiot « héve - shopkeeper
mentahty :

(c) They ctin afford to buy more. and'

* moré:expensive goods.
(d) Tl‘..y are: most unstable

8. ‘The- pla ning- honzon has hardly ever
~ exceeded five years implies. . -

(a) Plannmg should not be for a oenod
-of léss than five years; .

* (b) The. planmng process is very tlme
‘conguming.

(c) The planners are- not 1nclmed to

) thmk of futiire. -

Ad)Planhing should take care of all
probablé ups and downs in the next:
fivesyédr period. .- .

{e) Fivé-year. period is’. too short for

.- . 8uccelsful lmplementatlon of plans
6. Accordipg-to the: - passage, the net gains
pursued by mainégers dre at the cost of

Aa) Drvermﬁcatron modermsatlon and

. asset creatlon .

) Avallablllty of markets for indust-

 rial and consumer products

. (¢) Inflatidh and indiistrial sickness

-(d) leerhhs.atlon of -~
incredsing competition .

{e) Higher profits and- larger dmdends
to shareholders R

7. .In order to- improve the condition - of

Indian- irndustries, the ° industrialist

should dé all of the followmg except

(a) giving - ‘up t.he narrow mentahty
which . very  small : shopkeepers
generally have -

(b) striving to earn long term proﬁts

© encouragmg competltlon from

" industrialists . within “the . country
and from abroad -

RC)) resortmg to. long-term planmng for
~industrial growth and ‘expansion m
" diverse fields B -
@ adoptmg " .strategies for .
dn °rsrﬁcatlon and modemlsation

* The -} ublnc dxstnbutlon system

_ 'wlnch provl S food at low . pnces, is a
- subject of vital.condern.. ‘There is-a ‘growing .

realisation™ that . though Indis ° has enough

. food "to feed. its- masses two. square meals a”
-'day, the monster ‘of starvatlon and food

“imports - and .

-'the " self-employed and.

Ubjective Ueneral English

msecunty continues to haunt the poor in
our country. o

Increasmg the purchasing - power of
the poor' -through - proyiding . productive
emp]oyment leading to nsmg income; and .
_thus good standard of living is-the ultimate
,objective of -public policy.* However, - till
then there is-a need to provide *dssured
supply of food through a restructured, more
efficienit = and decentrahsed pubhc

. dlstnbutlon system (PDS).

Although the PDS is extenszve—lt is
one” of the largest such systems in the =

‘world—it has yet to reach the rural poor
and the far off places. It remains an urban
phenomenon, with the majority of the rural
poor still out of its reach due to lack of -
ecoriomic and - physical access.” The poorest
in the cities and the migrants are left out,
for they generally do “not possess’ ration
cards. The allocation of PDS supphes in b1g

- cities is larger than in rural areas. in view .
“of such ‘deficiencies-in the system, the PDS .

urgently needs to b¢ streamlmed .Also,
considering the large- foodgrams production
-combined with food subsidy on cne hand
and the’ cont1nuing slew starvation - and
dismal poverty of- the rural” populatlon on
the: other, there is-a strong case for makmg
PDS target group vriented. -

The growing - salaried ‘class ~ is
provided job security, regular income, and"
social security It . enjoys almost hundred
percent insulation against inflation. These
gains ‘of development “have ‘not' percolated
down to.the vast ‘ajority of our working

. ‘population.. If oné compares only -dearness’

allowdnice to the employees_in public.’ and
private sector' and looks. at’ 1ts -growth in’
thé past few years; the rising food subsxdy
is insignificant to the point of inequity. The
food subsidy is a. kind of D.A. to the poor )
those - ‘the
unorganised sector ‘of - the. economy
However, what is most’ unfortunate is that
out of the large budget of the so called food
subsidy, , the - .major ~ part of it is -

adrmmstratlve cost and wastages. A small

‘portion ‘of .the “above budget - 'goes. ‘to the

_real consumer and “an- everi ‘lesser portron

to- the poor who .aré in real, need
- It i5 true that-subsid lies: should not

is also: tr{le that, subsidies oﬂ:en Create- a

_psychology of dependence and hence s

'

"become a permanerit feature except “for the —
“destitute, disabled widows andthe old; It

L.ompren.euswu-r

" habit-forming, lnllmg the general mmatwe

of the people. By making PDS target group -
oriented, not only the poorest and neediest
would be reached without. additional cost,

but it wili actually cut overall costs -

incurred on large cities and for better off

 localities.. When the food ard food subsidy

aré limited, the rural and urban poor
should have the priority’ in the PDS.

_supplies. The PDS should be. closely linked

with programmes of employment gener-
ation and nutrition improvement. -, .
+1.. Which of the following is the main reason
for insufficient supply of enough food to
"the poorest? -
(a) M)smanagement of foodstocks
(b) Absence of . proper.
: dictribution system .
(é) Production of food is less than the
demand .
(d) Government’s apathy towards the poor
‘(e) None of these

public

‘2, - What, according to the passage, is the ~
main purpose of pubhc pohcy in the long

. run?

(a) Reducmg the cost of lwmg mdex by

increasing supplits
®) Providing enough food to all the

citizens

“(¢) Good standard of living through )

productive employment - :
(d) Equallsmg per capita income across
. different strata of society .
(¢) None of these

. . 3 ‘Which of the followmg is true of public

* distribution system? "
(a) It "has . 1mproved 1ts effectweness

gver- ‘the years.

) It has remained eﬁ'ectwe only in the )

cities!
’ (c) It is the unique’ in- the world
" because of its eﬁectxvenese
(@) It has reached the remotest corner
- of the country. - :
* (¢) Norie of these ©

4. The word ‘square’ as used in the passage ‘.

- *means °
" (@) rich
{c) sufficient .
. (¢)None ofthese - ...
5. Which of the followmg words 1s the same

(b) sumptuous
(d) qualrty ;

in meaning " as power as used in the

. passage"
" (@) vigour -(b) en‘ergy:
" {c) influence (d) capagity . -
6. What/ac‘cordmg to the passage, is the

‘main concern al_)out the PDS?

(a) It has not -been-. able to: develop

.. confidence in the peoplé at.large..

(b) It ‘has not been. able to-utilise the -
‘entire foodgrains.stock available.

(c) It - has - effectively channelized tne
foodgrams to all sectors .

(d)It has not been -able to prov1de
-sufficient food to the poorer sectron
-of the society: -

(e) None of these

7. What should be an appropr_late sbep to

. make the PDS effective? .-~

() To make it target group onented

(b).To increase the amount ‘of . food
. grains per ration card .

(c) To decrease the al-lotment Cof

-foodgrains to urban sector
(@) To reduce administrative cost
(e) To 1ncrease the amount of .
- foodgrains available for distribution

8. Which of the following, according to the-

_passage, is’ compared w1th dearness
allowance? .
. {a) Food for work programme .

- (6) Unemployment allowance .

- (¢) Food subsidy

* (d) Procuretnent price of food grains
. (o) Poverty Alleviation Programme
9.. Food subsidy leads to Wthh of the

. following? ) )
(a) Sense of insecurity

:(b) Increased dependence

- (c) Shortage of foodgrains

. (d) Decrease in foodgrains productlon
(e) None of these _

- What, according to the passage, would be
- the outcome of making the PDS target
- group oriented?

(@) It will abolish "the 1mbalance of

-urban and rural sector. ’
(b)Y It will remove poverty..
() It . will ‘give food to the poorest_ :
without additional cost. i

“(d)It will motivate the- target group_
" populatiou to work more.’

ll‘ Which is the same in meaning as ‘system’

" ag'used in the passage’?
" (a) routine- ’ "(b) mechanism
. {¢) machineé -~ (d) procedure - -
. (&) collection - o o
12, “Which, accordmg to ' the .passage,
consumes the major part of the allocabed
food subsidy? )
A Urban population. +
B, High administrative cost
C. Wastage

(a)Aonly V(b)A&-B @B &C
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13. What does ‘cut’, as used in the passage'
‘mean? .
(a)damagé f(b) cease
. (c)destroy - i(d) reduce

.- (e)none of these °
14. Which is the same in meanmg as the

" word ‘point’? -
(a) extent . (b) dlrect
- (o) tip () posrtron

...+ {e)none of these
~ 15. -The author’s writing style is

" (a) simplistic (b) argumentatwe

. () verbose (d) descriptive.

. (e) analytic g ST
‘Passage 7 - . (BankP.0. 1995)

- Amnesty Internatlonals charge that

‘tens of thousands’ of pohtlcal pnsoners
" including p1_1soners of _conscience, ‘are

languishing  in Indian jails  and that

prisoners. are routinely tortured-.in. this

country has to be seen in a much wider. |

-context than the organlsatlons annual
report. cares to do. In its overall appraisal
of 151 countries, Amnesty has accused 112

of tortunng pnsoners .63 -of harbounng‘

prisoners -of conscience, 61 of resorting to

- political krllmgs and 53 of detaining people
‘Of these’. apparently

without “a tral.’
* overlapping categories, India.seems to have
been excluded from the list of the 61 which
undertake -political killings. The report has
however, pointed out that scores of people

-in India - die of torture ‘in _police and’
military custody ‘and that many also simply

disappear. 'Clearly, -only- a  thin line
separates the 61 charged . with polltrcal
murder from the rest.- Before . coming to
such conclusions,’ however; it may also be
necessary to classify the various countries
according to. their political systems. Torture

by the security forces and killings at the .

behest of'_ the " government. make no
difference to the victims whether they are

in a democratic country or. a fotalitarian

one. It is also nobodys case that a
demaocratic’ country is less culpa.ble than a
.'dlctatorshlp in ‘the ‘event of 'human rights
violations. But the: pomt perhaps still

.'needs ‘to- be ~made- that torture or--
-"dlsappearances represent a failure of ‘the "
system-in a’‘démocracy in ¢ontrast’ to being -
an integral part of state pohCy in:a country :°

“-ruled by an autocrat ‘who is answerable to
no. oneé. - o . .

‘Amnesty, . but' it still
" Qualitatively . different place from a

Ubjectwe General Englzsh -

India ‘may be guilty of - keeping ‘tens )
of thousands’ Lehind bars and of the other .

human-- rights- abuses - mentioned by

remains a

totalitarian country. It-is in this respect

that Amnesty has been less than fair It.

has chosen to ignore the  distinctions
batween the good, the bad and the ugly.

The: openness of Indidn - society. will be -
evident o anyone who spends half an hour

: in'one of its chaotic market-places or visits
_ the law courts or watches a political raliy

or reads-a- newspaper or strikes up a _

conversation with any person on the roads.

There is no sense of fear in India, as in a .
_dlctatorslnp -There is also scope for
securing - relief from the heavy-handed

behaviour of the authontles even ‘if the

human rights:commission has not yet:lived

up to expectations. Unless such points are
recognised, Amnesty’s sssessment will seem
to_be a dry recital of :statistics which may
pillory India srmply because of its larger

population. Merclfully, Amnesty nowadays
~at least” notes that the terrorists also
indulge in human' rights violations and -
that India has to cope wlth several -
insurgencies fomented by a country where _
-the military does not always seem . to be
under - the
'govemment True, there is much that is.

control - of the

wrong in’ India’s prison system and with

the way the terrorist ~challenge  is -

sometimes met, but the stress should be on

activating the self—correctmg mechamsm'

within_ a: democracy and “not . merely on
painting:a grim, even blased picture. )
1. In the report, India has been excluded

from which of the following categories of -

violating human rights?
(a) Torturing prisoners
" (b) Detaining without trial
{¢) Political lulhngs oo
(d) Harbouring prisoners of consclence
(e) None of these °

2. Which of the following is not true in the-\' .

context of the passage?’
{a) India is gurlty of some. human nghts
abuses. " ;- !

®) Amnesty Intematlonal appralsed all .

the demdcratic countiies. .

: categories:of human rights abuses
(d)India -was .-one of the  countries
appraised by Amnesty lntematlonal,

elected -

_(c) ‘There, is overlapplng of cases in the

bu”lpl CREnSIVIL-a,

(d) 115 s
The author suggests classification . of .
*various' countries on one additional -

(e) The report notes that the terrorists.
also violate human rights.

According. to the passage, through wh1ch '

media or forum Amnesty International -
has harled the charges?

(a) Seminar on Human nghts

(b) Its Regional Meet

(c) Its Annual: Beport

- (d) Its International Meet
(e) None of these

The author.of the passage
(a) agrees with the report

'(b) disagrees with the report -
(c)'disagrees that conditions of prisons

_ in India is bad :
(d) supports the totalitarian approach

.(e) disagrees with report on terrorists

The. Amnesty International’s report is
based on the mformatlon of how many

-countries?

@63 ®U2 (131
“(e) None of these .

dimension. -Which of the followmg is that
dimension?

(a) Economic progress

(b) Human Rights .

(c) Industrial progress -,

(d) Political systems . - .~
(c) None of these

Accordmg to the passage, what does

political murder ina democratlc country ¢

signify? -
(a) Failure of system )
¢b) Policy of the country . ..

- (c)Need for autocratic rule *

(d) Openness of society

. (e) Heavy-handed behavxour of the'

" authorities

"Which - of the following human rlgnts

violation is most prevalent among the
countries?

" (a) Killing with' polltlcal motwe o
(b) Detaining without trial N

(c) Torturing’ pnsoners

*"(d) Harbouring prisoners of consclence

- {e) None of these

10..
.-(a) To highlight the sufl'enngs of

. 'Which of the followxng is the meanmg of
- the phrase ‘strike’ up as used 1n the

- passage? .
‘(a) hit sharply (b) 1mt1ate
(¢} discussion L@ protest

(e) undertake -

Which of the followmg seéems to be the :

-main purpose‘of writing: this passage"

pnsoners

&) To condemn political killings - -
" () To hrghhght the role of Amnesty
International
(d) To furtker the cause of human nghts
"(e) None of these

“11. According to the author, among the good,

the bad and the ugly, what at worst is the

_situation in Indla"
- {a) Good - (5)Bad =~ .
(c) Ugly - (d) Good or ugly .
(e) Bad or Ugly
12. Which of the followmg is true accordmg
- tothe passage? -
(@) There is a need to check pohtlcal
Xllings in India. - *

(b) The Human Rights Commrssron has
) done commendable service. .
(c) There is a need. to 1mprove India’s
. .prison system -
(d) India is not:at all gurlty of h\lman
" rights violation. :
(e) None of these * L
Directions (Q. 13-16) : _Choose thé'
word which -is most nearly the same in

- meaning as the given word as u$ed in

the passage.

13. SCORE B
(a) many b) m‘ajority .
(e)afew . - (d)grudge .

. (e) variety o R

14. FOMENTED - B

. (a)suppressed - (b)instigated

"(c) faced (d) disturbed -
. (e)formed : _
*15. 'CULPABLE . . - = =

: {@)eynical i~ (b)troublesome.
(c) capable (d) imputable

. (e)adulatory '

‘16, ' LANGUISH - . ‘ .

(@) hold grudge - (b) become sick

_ {¢) torture -
(e) terrorize o s
Drrectlons Q. 17- 18) Choo.\.e the

(d) remain neglected .

"word ivhich is most nearly. the opposlte

in"meaning of the given word as used

" in the passage:

.

17" OVERLAPPING

(a) différent (b) override
“(c)dependent * . ' (d) coincidental
.. (e)independent S o
" 18. PILLORY R
(@) penalise " (b)damage -
(c) appreciate T (d) exclude .- -

- (€)1 mclude
Passage 8

. Iromcally enough the very ‘Success
of Operation Flood which is to- make the
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cities . flush - with milk, - has proved its
. undoing. Farmers in Maharashtra, Gujarat,
~ Karnataka, Tainil Nadu and Kerala are
" now faced with a surplus of supplies for

which .there are no takers. Indeed, some.’
experts in the Union agricultural ministry
are even going so far as to suggest that -

_the country should export to neighbouring

countries—Bangladesh, for example, which
imports milk and dairy products. Does this

mean that the needs of consumers at home

- are met? FPar-from it. The fact that a dairy. .

technology mission was created. t¢ improve
the nutritional status of the rural poor
speaks for itself The protagonists .of

Qperation Flood argue that the per capita

consumption of milk has ‘gone up from 108

‘gm -in 1967 to 158 gm in 1987 and an_

expected 196 gm in 1995, when the third
phase of the programme comes to an-end.
But it is clear that consumption has been
limited to the cities and that.too to the
“relatively better off households. Four out of
every ten cltlzens in ‘larger cities, Ofﬁ(:lally
estimated to be living in slums, are unable
to afford sufficient milk for all their needs.
What  the much-vaunted ‘surplus’  thus

amounts to therefore is a saturation of the -
- ‘market comprising the other half Even'in . -

Bombay, the most affluent metropolls

housewives find it - -difficult to meet ‘their

milk bills because it is prlced the hlghest
in the country. .

o The inadequate oft’cake of m11k is
thus related to its price. ‘The anomaly
should be sufficient to prompt a thorough
revaluation' of Operatlon Flood, which is
based on improving technology in the dairy

industry ' to ~increase - yields though "at
higher costs, Somewhat - like the Green -

Revolution in cereals, the ‘White revolution’
has its share of cr1t1cs who -argue that
-. instead of concentratmg ‘on incréasing the’
" supply of milk in.a few pockets (though the
co-operatives are inherently - preferable;: to
private suppliers), the authorities ought to

spread the benefits of improved dairying .
throughout the otntryside: Like the Green
Revolution which ‘demands capltal-mtenswe :
~“inputs and - energy, . Operation -~ Flood

_requires genetically superior .cattle which

in turn have to be -provided : with -fodder, ..

‘now in extremely short supply all over. the

country. ‘What is. more, schemes. such-as -

Operation'. Flood only sharpen the urban-

rural divide, 1nstead of narrowmg it, which- -

Ubjective Ueneral bnglzsh. )

 should surely be the ob,)ectlve of any

-development scheme.

1. Which of the following hag-the same
eaning ‘as the word ‘protagonist’ ‘ag
used in the passage?

(a) opponent ®) iutelle_ctual
(c) supporter (d) preserver
*(e) practitioner - ;
2. Which of the followmg is true accordmg
to the passage?.

- (a) Certain statés in Ind1a have excess
production of milk. '

- (b) Operation Flood does not operate in -

. Karnataka.
1G] Gu]arat cities have less mllk than
cities'in Maharashtra
(d) Certain states are producing excess
. raw material for milk production.’
" (e) None of these
3. Which of the followmg, as ¢an be mferred

from the passage, is not an outcome of

. ‘Operation Flood”?

(a) The urban areas are beneﬁtbed by

* improved m1lk supply.

T ®) Nutritional standard of: rural poor _ .

has gone -down:
{c) It has hiked up the price of milk.
(d) Milk output has increased in the country.
(e) It has improved the per capita milk
" intake.

‘4. Which of the followmg is tme regardmg '

" the price of milk? .
© (o) Itishigh because of mlddlemen

®1tis hxgh because cost. of procuction -

is h1gh
- (&) I is low because of establlshment of
" co-operatives. _.:
" (d) Itis highonly in metropolltan areas.
.. (e) None of these

- 5.. What is the charge bemg levelled against -

_'Operation Flood by its critics?

A{a)Itis beneﬁttmg only in certain areas.’
(® Mllk is-being sold at h1gh prices.
(eIt not mcreasmg the m1lk

productlon

(d)Milk' products have . l1m1ted export o

- - market and hénge it is useless. o
6.. Which of the following has -the, same
i,meamng as ‘d1v1de as’ used in the

passage? | = ! T
(a) partition (b) qutoﬁ‘ )
{¢)disagreement . (d) dlﬂ'erence

-(e) separate -

7. Which. of the followmg is true accordmg '
‘to the passage" That people l1vmg in

. *. - slums -
o (@) get half the1r requlrement only

-

e

Comprehension:1

* (b) get sufficient milk
(c) buy some milk
* (d) do not buy milk at all . .
- . (e) arenot affectéed by milk prices.
8. Which of the following, accordlng to the
- author, should be the main ob]ectwe of
schemies like Operation Flood?
(a)To increase the avaxlabxllty of milk
products in urban areas :
(b)To make use of surplus: mputs
available in plenty in the country
(c) To increase the. productlon of milk -
in rural areas
(d) To decrease. the poverty ‘in rural
‘areas and bring down dxfferences .
(e) Noné of ihese
9, The word ‘sharpen’ as used in “the
. passage means N .
“ (a) prepare  (b) provide (c)force -
(d)widen  (e) surmount .

10. Which of the following can be mferred :

from the passage?
(a) Milk - needs of the urban group are

_ being met. .
" (b) Six out of ten people in urban areas

. buymilk.
(¢} Milk needs of only the afﬂuent people
in urbar areas are being met.
*(d) Milk needs of the entire couritry are
being met. ]
(e None of these .
Passage 9 (Section Officers, 1993)

Democratic ~societiés =~ from  the

_earliest times have expected their govérn- -

ments  to /protecc the weak agamst the
strong. No ‘era of good: feeling’ can' justify
discharging. the police force or. giving.up
the idea of: public control over concentrated

. private ‘wealth. On . the . other hand, it is -
“obvious that a spirit -of ‘self-denial - and
moderation on the part of those who hold

economic power will greatly - soften "the

' - demand for absolute equahty Men are

" more interested in freedom .and security

. 'than'in an equal -distribution of wealth.
. The extent. to which Government must

interfere with business, therefore, is not

exactly measured by the extent to whir h_
econémic power is concentrated into a few.

hands. The required degree of -government
interférence depends. mainly on whether

economc powers are oppresswely used y'
" on the necessity of . keeping econdii

" factors.in a tolerable state of balance, .

_But with the necessity of meetmg all
" these~dangers and threals to liberty, the
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powers . of ‘governnient are unavoidably’

" increased, whictiever political party may be -

in "office. The growth of government is a
necessary result of the growth of
technology and of the problems ‘that go
with the use .of machines and science.
" Since the government in our nation, must
take on.more powers to meet its problems,
there is no way to preserve freedom except
by -making democracy more powerful.-
1. 'The advent of science and technology has’
increased the :
(a) freedom of people
- (b) tyranny ¢f the political parties
(c) powers of the government -
(d) chances of economic inequality .
2. A ‘spirit of moderation on the -
economically sound people would “make
the less privileged .
(a) unhappy with the rich people
(b) more “Fiterested in freedom and
security )
- (¢) unhappy with theirlot -
. " (d) clamour less for absolute equallty
3, The growth of govemment is
- necessitated to- o
(a) make theé rich and the poor happy '
() curb the accumulation ¢f wealth in
a few hands
" (c) monitor science and technology .
" (d) deploy the'police force w1sely
4. ‘Era of good feeling’in sentence 2 refers to
(e) time of prosperity - .
- (b) time of adversity
(c) t\me without government
" (d) time of police atrocities . :
5. “Tolerable state of balance® in the last
‘sentence may mean’ :
B (a) an adequate level of pohce force .
-(b)a reasonable level of economrc
‘equality '
(c) a reasonable amount of government
" interference
(d)a reasonable check on economic
' power S

'Passage 10 .
. Educational planning shnuld aim at
meeting the educatlonal needs of the entiré
population of all age groups. Whlle the
“traditional structure of education as  a
"three layeér hierarchy from ' the primary
stage to the -university represents the core,
. wé should not -overlook the penphery which
is equally ‘important. Under - modern‘
eondxtlons workers need to  rewind,
- renew their enthusiasm, or stnke out m a




" . functions
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- new dlrectxon, or 1mprove their -skills as .
* much as any university professor. -The .

fetired and the aged have their needs as

well. Educatlonal planmng, in their words -

shculd take care of the needs of ¢ everyone
_Our structures of education have

s been bullt up .on the assumption that there .
. is a terminal peint to education. This basic:

" “defect has"become all ‘the ‘more harmful

o " today. A UNESCO report entitled ‘Learning - E
" tojBe’ prepared by. Edgar Faure and others -

“in 1973 asserts that the ‘education - of
. chlldren must prepare .the- future adult’ for
- various forms of self-learning. A viable
education system of the . futire should
consist of modules with different kinds of
“serving  a. - diversity . of
- constituents. . And. performance, not the
period of study, should be the basis for

credentials.. The wntlng is already on the '

: wall

. In vxew of the fact that -the
_sxg‘mﬁcance of a commitment  of lifelong

learnmg and - lifetime educatlon is bemg,r

discussed only in recent 'years even in -

i 'educatlonally - advanced co’untrles the

" possibility of the idea becoming an mtegral -
"part of educational thlnkxng seems to be a”-
far cry. - For, - to -move . iri that dlrectlon

- means - -such moré than  some simple
" rearrangement of the present organisation
. of éducation. But a good- beginning-can’ beé
made by . ‘developing .open’ university

—programmes for older learnérs of different -

categorles and 1ntroduc1ng : extensron
services in the vonventional colleges and
schools.. Alsa these institutions should learn

~to cooperate with the numerous community '

‘organisations such as’ libraries, museums,
municipal recreatxonal programmes health

.. ‘services, etc. -

1. Whatis the main, thrust of the author 27
(a) Traditional - systems should be
" 7 'strengthened.

) Formal education is more 1mportant
. . than non-formal.
' (c) One should never cease to’ learn

(d) It is 1mpossrble to- meet the needs of -

. ... .everyome. '~
 (e) Thereis noe substltute for the extant
) systém of ‘education.

s 2t ; I;'Whlch of the following best descnbes the L

- purppse of the author? .

‘—' '_'(a) To " criticise’ the present educatlonal AR

system

" (e) None of these ‘
.. According to the passage,. the present .
“education structures assume which of -

- the following? -
-(a) All people can be. educated as per

Obje.ctiue- General English

-(b)- To strengthen the present educatxonal

practlces )

{c) To support. non-conventlonal educa-
‘tional organisations

(d) To present a pragmatic pomt of view

\

“their needs o

- (b) Present educational plann1ng is ve"y

much pract)cal

* «¢) Education is a one time process

(d)Simple  rearrangement . of . 'the

~ present educatlonal ‘system 1s a
‘must.

(e) Discussions .on hfelong learning

. should continue for some more time.

. 'What should Be the major charactenshc :
- ~of the future educational system?
(a) Dlﬂ'erent

: modules with . same
function . : :

- (b) Same module for dlﬂ'erent groups

(¢)No* modules = but ' standard
. compulsary:programme for all--

- (d)Rearrangement of various ‘course .

~contents

' (¢) None of these’ L -
. According to'the author, educatlonal glan

should attempt to

{(a) train the people at the core-

(b) encourage conventlonal SCllOOlS and
" colleges

B (c) decide a terrmnal point to educatlon
. (d) overlook the people on the periphery’
(e) fulfil the . ed'uca.t‘lonal needs -of

everyone i

= Accordmg to the author what measures
:should 'open- university adopt to meet -’

modern conditions?. - -

* (a) Develop - various programmes for .

adult learners. - -

N ,(b) Open more. colleges on tradxtxonal -

lines.

{¢) Cater to: the needs- of those who

represent ‘core’.

. I C)) Primary educatlon should be under

the control of open universities.

- (e) De- recogmtxon of v vanous communlty B

organjsations. .
According. to’the author what should be

- the basis for awarding credentxals"

(@) Duration of the course

" (b) Comipetence of the course teachers

(o) Dwe_rsrty of the topics covered .

Comprehenswn-l

. (d) Real grasp of matter or- sklll

(e) Participation in commumty actmtles
Which of the following is: not true in
context of the given passage?

. {a) Lifelong learning is a'recent concept.

(b) Workers' knowledge -and skills also
need to be updated constantly.

"+ (c) Learning to'Be’ defends ihat there is

10,

. (b)longer durations-- for all formal'

11.

12

.- {¢) introducing °
" {e) satisfying = "
. Which of the followxng is most opposite’
in meaning to the word mtegral’ as used

" a terminal point to education.

. (d) Schools and -colleges should .open

extension services.

() Needs of aged and retlred should

also be considered..
According to, the. author, the concept of
‘lifetime educat'on is
(a) as old as traditional education
(b) still in formative stages '

" (¢) in vogue in advanced countrxes

(d) not practical
(e) not desirable
Integrating the concepts. of hfelong

-1éarning with the educatlonal structure :

would imply
(a) closing down’ conventlonal schools
and colleges

courses

educational organisations

" (d) more " weightage . for actual. perfor—-v

mance than real understa.ndlng

h (e) None of these .

Iri the context of the passage what 1s the

_meaning of the sentence The writing is
.. already on the wall? . "~

(a) Everything is uncertain now-a- days
). Changes have already taken place:

(c) The signs of change are already_

. visible. .
(d) You cannot change the future
(e) It is a-mysterious process
Which of the followmg is most nearly the

_same in meaning as the word ‘meetiug’

as used in the passage? -
(a) approaching (b) contacting -
1) representmg

" in the passage?

(a) essentral (b))ndependent .
- (¢) major - -(dyminor *
-(é)unwilling -

.” Which of the followxng is most opposxte

. in.meaning ‘to the phrase ‘a far cry as
7 used u\the passage?

- (aYAreality

(B)Atheoretlcal suggestlon _ " .
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(c) Very funny
 (d) Next to 1mposslble
(e) None of these _ . N
Passage 11- ' (R-B.L 1990)

Recent advances: in science. and

. technology - have made it possrble for

geneticists. to find out .abnormalities in the
unborn foetus and take remedial action to
rectify some defects which. would otherwise

. prove to be fatal -to the child. Though
‘genetic engineering is ‘still at its infancy,
: scientists can now’ predlct with greater

accuracy a genetlc disorder. It is not yet an’
exdct science since they are mnot in 'a
position to predlct when exactly a genetic

disorder ‘will set ‘in. While they ‘have not .

yet beén ablé to change the genetic order-

- of the gene in’ germs, they are optimistic
_and are holding out that in the near future

they might be successful in dchieving this
feat. .They have, however, acquired the

ability in mampulatlng tissue - cells.
. However, genetlc mis-information - ‘can
sometimes - damaging for it may"

adversely affect people psychologlcally E
"Genetic - informatjon . may lead to a
(c) simple rearrangement of present . -

tendency to brand some ‘people as. inferiors.

Genetic information. can. therefore” be -

abused and its application in deciding the
sex of the foetus and |its subsequent
abortion is now’ hotly debated .on ethical

- lines. But on_ this issue geneticists cannot_
‘be.squarely ‘blartied .though this charge has ..
" often been levelled at them. It is mainly a

societal problem At present genetic

. engineering is a costly process of detecting

disorders but scientists.hope to. reduce the,

-cests when - technology .= becomes more
advanced. This is why much progress in’
_this area has been possible in scientifically -
advanced ‘and rich countries like the -

US.A., UK. and Japan. It remains to be

- seen if in the future this science will lead
'to the development of ‘a race of supermen

or will be able to obliterate. dlsease from
-this, world.
1 Whlch ‘of the fo‘lowxng is the same in

meaning as the phrase: ‘holdmg out’ as-’

_ used in the passage? -
(a)catching:. . = (b) expoundrn'g
(c) sustaining' Lo Ad) restraining'
(e) controlling -

2. According to the’ passage, the questlon of .

abortion is
(a)ignored .

: (b)hotly debated
(c) unanswered ; o o




(d) le& to the sc1ent1sts to decide
(e) already settled =~
3. Which of the following is true regardmg
" " the- reasons for progress in . -genetic
engineering?
(@)It has become popular to abort
female foetuses.

(6) Human:  beings _are e_xtremel_y

interested in heredity.

(c) Economically sound and scienti-
fically advanced . countries  can
" provide, the’ mfrastructure for such
research.

(d) Poor countries desperately need'

genetic information.
4. . Which -of the following is- the same in
meamng as the word ‘obliterate’ as used
in the passage? :

(a) wipe off * b) eradicate
- {c) give birth to (d) wipe out
(e) very literate

5. Which of the following is the opposite in

meaning to the word charged ag used in -’

the passage?

‘(@) calm. D (b) d_isturbed

(c) discharged - '+ (d) settled' ‘
(e) peaceful : (

" 6. - Which of the followmg is not true of the

.genetic eugmeenngmovement" '

(a) OSSIblllty of abuse

B Itis confronted by ethical problems

(c) Increased - tendency to mampulate
gene cells. :

:'(d) Acquired” ability to. detect genetic
disorders in unborn babies -

(¢) Acquiired ability o manipulate o

“tissue cells
9. WhICh of the followmg is the same in
meaning as the word ‘feat' as used in the
passage" :
(a) process * (b) focus (c) fact -
(d).possibility (e) goal o

8. Why, ‘according to the author, is-genetic

misinformation severely damaging?
A. The cost.invélved is very high.
- B. Somie. people are un_]ustly branded as

mfei ior.
_{a) Aonly s (b) B-only
-~ (©)BothAandB - :(d) Neither AnorB
{e) Either Aor B - S

- In the passage, abused means -

- {a) insulted (b) talked‘ about *

et kitled, ; (d) misu'sed-

(eJ: changed S
“ 10, At present: genetic engmeermg can

rectify all genetic disorders. Isit? = .-

(a) Yes - C (®No" -

(c) Itcan do so only in some cases .

Vo (e) Neither Anor B

uojective General bngush. .

11 Which of the followmg, accordmg to the
author, are the. short-commgs of genetics
. . inbecomirg an exact: science?
determine the: tlme when - genetic
disorder wili set in."

B. Technicians have not been able to

mampulate germ cells. -
(@) Aonly, - (b)) Bonly
. (¢).Both AandB .'(d) Either Aor B

12.- Which’ of the following is the same in

Tmeaning as the word squarely’ as used . .

. m\he passage? -
(@) rigidly (6) firmly -

. (c) directly (d) at right angle
‘(e)straight .

13. Which of the - following is rot true
according to the passage? . -
(a) Society . is ‘not’ affected by " the
research in genetlc engineering.:
- (b) Genetic erigineers. are not able to
_say some thmgs with certamty

) If genetlc } mforma_tlon. is _not :
properly handled, it will .create’ -

problems.

“(d) Mampulation of genes is presently

* done only in: tissue cell,

“(e) Scientists recognise the possibilities .-

- of -abuse of mformatmn related to

. " genetics. - :

14.. Accordmg to’ , the author the. present
state of lmowledge about heredity has -
made geneticists

() introspective -
(¢) arrogant

. (e) reckiess

15. What is the tone of the author in. the last

‘sentence of the passage? L
. a) resrgnation () cautiois - -

(c) relief (d) concern .-

(e) uriconéern 5 _—

- (b) accusative
(d). optimistic

- Passage 12 -

. Political education may be defined

- as'the preparation of a-citizen to take well - .
informed,” responsible -and sustamed action .

for participation "in" the national struggle

.~for the realization of the socio-econvmic

“objectives . of the country The ovemdmg

. Socio-econoniic ‘objectives in India_are the

-abolition” of poverty and the .creation “of .2
modern democratic, setular and. socralist
, ‘sociéty in place- of the present traditlonal
feudal hierar: hical and megahtanan one

A. Technicians will' not' be able t0'-

.(,omprenenswn -1

Under the British rule, the Congress
leaders argued that political’ education was
an important- part of education and refused
to accept the official view that education

‘and politics should not be mixed with one

another But when-they came te power in
1947 they almost adopted the British policy

‘and began' to talk of education being

defiled by politics. ‘Hands off "education’
was the call to political parties. But inspite

-of it, "political * infiltra- "tion -into - the .
E educatlonal system has greatly increased in

the sense that different political parties vie:
with each other to capture the mirds of.
teachers . and  students. ~ The  wise

' academnicians wanted.. political . 'support,
-without political  interfer- ence. What we .
" have actually received is infinite political

interference ~ with little genuine ' political
support. This interference with the
educationial system by pohtlcal parties for
their own ulterior motives is no political
education -at all;-'and with the all round
growth of ehtism it is hardly a matter for

surprise that real political ‘education within -
" the school system (which really means the

creation: of a commitment to social

. ‘transformation) has been even weaker than .
" in the, pre—mdependence period. : :

. At the same time, the freedom.
struggle came to an end and the major

- non-formal agency of political education

disappeared. The press could .and did
provide some political education, But it did

not utilise the opportunity to the fuil and .

the strargle hold of vested interests
continued to dominate it.The Same can be

said. of political parties as well as of other

institutions and agencies. outside the school
system which can—be expected to provide

_ political education. All things considered, it
- appears that we have made no progress in

genuine . political = education ~ in  the

post-mdependence perlod and have even
slided ‘back in. some respects. For instance,.
o the ,education system "has become even

more’ €lite-criented. Patriotism ‘has become

" the first casualiy.’ ‘Gandhiji gave us the "
: courage to oppose govemmert when it was -

wrohg, -in a disgplined fashion 'and on

basic principles. (he believed the means to’

be as important as the ends) and taught us

" to. ‘work:. among the’ peor - people for
: mobilizmg and-organizing them. Today, we’
have even lost the courage to ﬁght on basic’ -

issues. in:.a dlscxplmed manner because

L0

agitational and anarchic pohtics for
individual, group or party aggrandrsement
has become common. The education system
of today continues to support domination: of
the privilegéd groups and domestication of
the under-privileged . ones. The gituation
will not”change  unless we take vigorous

" steps to provide genuine political education” .
“on an adequate scale. This is. one of the

major educational reforms we need; and if ..
it is not carried out, mere linear expansion .
of the existing system of formal -education
will - only “support .the "status  quo. and -
hamper radical social transformation:
1. Which is the major pitfall of the present
education system? i
(et is mamly represented - by the
’ downtrodden masses. :
(b) It perpetuates the dommation of the
. pnvxleged few. - - i
() Tt is based on the British model of
" education. - _
" (It -is  highly hlerarchical and
inegalitarian in nature.
(e) Tt does not mculcate values among )
the studehts. S
2. Which of the followmg is true in"the
" context of the passage? ..
() British - rulers- wanted lndian )
educatlon system to, be mﬂuenced
. by politics. .~
(b) Academic . - institutions _ 'rec‘eive
genuine political support. '
(¢) Real political education should aim
" at creating an elitist society. -
(d)The Indian press has been 'under
-the mﬂuence of privilegéd groups. :
(e) Our -education- system caters to the
. " needs of the masses. -
3. Which word is nearly same in meaning
as ‘defile’ as used i in the passage?.
- (a) disparage “(b)tarnish
".(c) degenerate. (d) criticise .
(e) contaminate
4. What should be the. ultimate objective of
. political education?
- (a) To foster all round g'rowth of ehtism
. (b) To bring quantitative change in the:
-entire education system .
" {¢) To create an egalitarian society )
: (d)'Ib prépare’ students with  high
intellectual acumen . .
(e) To. provide - genuine . support to :
.. -educational’ institutions -
5. Accordmg to the. passage, what ‘is the i
" main contribution of Mahatma Gandhi to
the field of political education? . .




'.(a‘) He spread politicai literacy’ among

'the -people - through non-formal-

political education.

(b) He emphasnzed the need of keeping :

_educatlon B from :

S pohtrcol
" i - .interference. L

(c) ‘He -taught - us ag1tatronal and
*. anarchic pohtlcs in"a. disciplined - - -

mar..)er ’

“{d)He made:" us believe that our‘

‘political end should be compatlble
with the means.

6. . What was the. pohcy of the riling party' :

“regarding .. political -education
1mmed1ately aﬁer independance?

. (a) Education- should keep 1tself ciean of

Jat polities.

(b) Political -+ educatron should be

. imparted through formal means:
c) Press  should take wup = the
;. responsibility of 1mpart1ng pohtlcal
/ education: : '
({i) Polrt)cal educatron should not be

- devoid of socio-economic realities.

Political parties should impart pohtlcal .

- 'education-through formal means.

“.Which of the followmg statements is not _

- true?-
(a) 'I‘he spmt of patnotrsm is. on the
verge of extinction.

' (b) Political ‘partles provrde proper '

polltlcal education.
-(c)'We do not have courage to ﬁght on
. basic issues.
(d) Freedom struggle helned educate
peop{e polltxcally
(e) Political education is necéssary for
bringing about soc1al change.
8. How has- polltlcs been ‘related to
_ Veducational . mstrtutlons ' = after:
independence?

_ (a) They got pohtlcal support devord of .-

. political interference.
(b) They got almost no political- support
- as well as politi¢al interference.

- {c) They got political ~support "at the

. cost. of political interference.

(d) There was substantlal mterference :

witi.out political support. ;
- {e) None of these :

9 According - to . the. passage pohtlcal

“education in the real sense should .

e . (@) 1mpede the . process of creatmg an

. ideal society ‘- o
(b) develop people : who wrll be
p commltted to brlng socral change
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-{c) make political parties aware of the
need of major educational reforms
(d) strengthen ‘the traditional ' and
feudal elements of the. socrety
. (e) develop patriotism among people of
- the privileged class "

. 10. Which s the most opposite in meanmg to

. the  word hamper” .as used in the

_ passage?
(@) expedite (b)enhance () foster
" (d)oppose . (g)initiate )
Passage 13 " (Bank PO. 1994)

In  terms of the total .energy
consumed by different sectors the largest
consumer is understandably the 1ndustr1al
sector, ‘which accounts’ for. nearly half the

_ total energy used in’ the’ country today.

This is followed by the. transport sector
which consures about 25%, the househdld
sector .(about 14%) .and the agricultural
_sector, (about 9%). 'I‘hls last™ séctor has.
shown - considerable increase in eriergy use

-over the last . four decades. 'Among the
primary " fuels, ‘the relative proportion. of
* coal has dropped from nearly 80% to 40%
and that of cil has gone up ﬁrom 17% to

44% over the. same period. :

- Total energy consumption in- India
today-is equivalent ‘to 291 million tons of
oil of which 26% comes' from  wood. On.a .
per capita basis it' works out to about éone

litre of oil per day, which is extremely low -

by mtematlonal standards. ‘The future
energy demand depends: upon the level of
development - envrsaged and also on.the
séctions of people to be affected by.it.

The “energy dzspanty between the

urban ‘and the “rural population is at :
present .as wide: as between nations - on E:
.worldwide scale. There is apparently 4

greater need to’ prov1de energyin the raral

.areas and ,to improve the eﬂ’iclency of
energy use. than ‘merely to increase the:

national - figures for -energy consumptlon-

- limiting 1ts use ‘to thdse who are gettmg o
- the bulk share already. -

‘ With ‘the projected rate of populatlon
growth improving upon the - per -capita

energy consumptlon is a Herculean task as -
- our . coal reserves and the :capacity ‘to
.lmport oil cannot be mcreased\beyond a

. point. There is’clearly no-escape from the .

- "utilisation of renewable energy sources ‘ina
blg way 1f the.: gap between the desrred

DL ettt

levels of energy supply and avallable

resources has to be kept at the minimum..
1. Which of the followmg styles has been
* adopted by | the author? . .

.{a) Unsubstantnated argu.ments and' -

views - . ¢ ,
(b) Data-| based but coloured by soc:ahsm
{(c) Highly sub)ectnve with blas for Tural

- . people
" (d) Objective, descnptlve, lackmg clanty
(e) Data-based, objective, posmve solution
© .. oriented - -
9. “The author is laying greater empha51s on
- which of the following? .
* A. Efficient use of energy’
B. Increasing national mdlces for energy

consumption -
C. Controlling population. growth
(d)Only A (6) Only B )
()OnlyC *, . (d)Allthethree
" (e)BothB&C

.3. Which of the following shows correctly

the different sectors consuming energy
arranged in 2scending order?
1. Agriculture - I1. Household
I Industrial .- -~ IV. Transport
(@LIVILIN . )L ILIVII
@IULIVILI. (I, 1L I, s

" (e) Noue of these .

‘4. According - to the passage, the énergy
- requirement of the future will be decided
* on the basis of which of the following?

A Total energy” already consumed by

. us in the past .
.+ B, Level of development of oil' mdustry
G Proﬁle,o_f the affected people -

. (a)Only A (®)OnlyB .
~(@OnlyC " (d)BothA&B
(e) Both B & c

. 5. “Thereis clearly no escape’ ‘meany’
. (a)thereis also no solution to this.
(b) there is a way out, but it is ambiguous. .

@ there is a problem, but not v1thout .

solution. )
(d) there is
except : :
“(e)thereis more than one way.
-@. The author feels that’ mcreasmg per
" capita use of energy is .
(@) not at all desirable " : o
(b)a matter of great difficulty - = -
- (¢) a routine matter -
" (d) rather difficult, but not 1mposs1ble
-(e)-not easy but certamly achieyable’

7 “Which of the “following statements 1s

trie? -

-fa) Industrial sector uses 50% of total .

-energy used in Indla

8. “The energy disparity. . o
_ worldwide 'scale’, the first sentence of -

-hardly any ,altematrve _

y by Energy consumptlon in Indla is: 26% U

" of world consumiption.- S
(c) The - household - sector ‘has shown :
. considerable increase in -energy use.:

" (d)Use of oil has mcreased from 40% to 2

80%. . . . . »

(e) Import of orl to thc extent requlred LV
" ‘is quite possible. .
. 88 wxde as

'thlrdparagraph means - . .\ _ ¥
(a) disparity in urban- and rural ,'-1s
" obsérvad in all nations. -’
. -(bYin no other natlon such dlspanty 1s L
. observed ‘ : j\
“(c) developed countnes consume more o
" . energy than developmg countries. -

" (d)yworldwide scale is dlﬁ'erent for rural E ’

" and urban areas.
(e) None of these-

9. Which of -the followrng has been _.
: suggested by the author as; the best
- possible solutlon to overcome energy S

crisis? - _
" (a) Exploration of 011 reserves -

_(b) Maximisatior of renewable sources - I

* (¢) Importing large quantities of coal
(d) Reducing share of bulk users -

" (e) Reducing - the energy dlspanty o

between urban and rural areas-

‘10.  Which .of the followmg ‘has”’ been

“mentionsd - :as a major -~ hurdle ~in B
. enhancmg per. :capita consumptlon of .
-energy in India?.

(a) Present level of development in 7'

 India ..

. (b) Internatlonal norm of 1 litre- of onl

. per day per person :
(c) Disparity in use of energy m rural -
and urban areas :
(d) Increased " of }"energy “in
Agricultural sectm ’ ’
(e)None ofthese e

.' 'Passage 14 - - L
" It.is common knowleuge that the,\_ S

‘root cause: of our backwardness in-most- -

“fields  is illiteracy. Campaigns for the .
" eradication: of this’ drawback - gathered

momentum in the past four decades after
independence. The results :are, as exnected,. -

dramatic. However, whlle the percentage of -

literacy in India is going up, the number of -

- illiterates ‘has ‘also been increasing, whlch. B
{is really incredible. ‘Thus- accordmg to the .. .
1991 census ﬂgures there: were 503 million™- - -

1lllterates m the’ country, 30 mllllon more
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N than in 198\1 Dunng ‘the same penod the :
. .percentage of literacy went up from 34 to-

39 percent.. There is no need of an
sophisticated technique to- explain thz
. cause-of this paradox, as it is obviously the ;

. result of .the rapid growth of - populatlon

The rapid grewth of - populahon has

_ outpaced whatever littlé progress-had been .

achieved in literacy.. For instance, from
1971 to 198\1 llteracy increased ,at an.

annual average rate of 0.7 percent, while -~

the country’s- ‘population: grew by 215 per
cent every year. In the following decade the
averageé rate of annual increase in literacy
"was 0.95° percent; whereas the ‘population

grew by almost. 2.85 percent eve
" .during that lation

decade But,
explosnon is not entirely- responsible-for the
growing number of illiterates. The ‘apathy
of most states . in falhng to tackle the
problem of adult illiteracy is also partly to
blame. Till. ‘now, they have shown little
awareness -of the  magnitude of the

__problem. Moreover, follow-up measures to

" prevent neo-luerates from - relapsing - into’

7

illiteracy are just as 1mportant as’ the
initial adult literacy ' campalgns In: this

case too, the State Education authorities -

are negllgent ‘Not sufficient provision' has

‘been made for ‘continued educatlon This’

can be doné by setting ‘up more~rural -

~ libraries,’ adu‘t schools and correspondence

.

- courses. : -
1. Which of: “the followm
. g - -appears
. unbelievable, accordmgtothe passl:lge"
‘(a) Growing . illiteracy  is owing to

non-availability .of readlng faCllltleS
to rural masses. -

(&) Sufficient provision for contmued
education has not been-made.

(c) The increase .in llteracy percentage
~and also the increase in number of
illiterates :

- (d) Populatxon explosron is the only
reason for increase in the number of
illiterates. - !

2. The term. ‘Neo—hterate’ as used in the

- passage refers to a person who
- :(a) is not literate™,
(b): has newly become hterate
- (c)is alittle literdte - * - ' .
_(@)is'aliterate with.no school educatlon '
" (e) ig illiterate but capable of. becommg
Literate with formal training. -

3. In the -passage; the rapid growth of

- populatlon has been attnbuted to

population .

_Objective General Englz_'slz -

(a) 1lllteracy .
. (b) apathy of government offi cxals
" {c) want of continued educatlon
_ (d)Noneofthese =
4. Whlch of the following- statements is'not
truein the context of the passage?

A. "Arn effective check .on populatlon

. growth' is the only solutlon for
- attainment of full hteracy L

B. The cause of the paradok mentxoned .
| . in the passage can be explamed by

_ -'using sophisticated techmques
C. Adequaté number of Jlibraries and
adult schools are not _available in

PRYhy i OO
a y nly B {(¢) On|
“(d)A&B (e)A&{) o0 lyC

' 5. Which of the followmg is the same in
meamng as the word outpaced' as used

in the passage? -
_ (a) surpassed ()] nullified
(c)ruledout - - - (d)spoiled

- 6. Which of the following has been referred
to as a paradox?

. (a) The - literacy” percentage increases
and . the. riumber of 1llrterates
decreases. .

_(b) The literacy percentage lncreases in
. proportion to'the rate of i mcrease in
population. .

. {c) The. government:is sens1t1ve to the

pmblem only -at the planning stage

~but not at the implementation stage. -

~(d)The literacy ~percentagé and the
number of 11].1terates are both
mcreasmg

- According to the passage, the problem

could have been tackled by which one or

more of the following measures?

- A. Checking the growth of populahon

- B. Making the adult lxteracy campaxgn
more effective

- C, Providing continued educatlon to

_ neo-literates -
Ea))ggc ' (B)A&B "
-{e) None of these @ All Ofthese
8 -'Which of the follewing is as lmportant as
" the literacy campaign? -
" {a) Checking . the . rapld growth

popylation " -

_{b) Starting correspondence courses and
providing readmg failities

(c) Awareness of -the magmtude of the
problem of illiteracy

- (d) Making

" .continued educatlon :

'10. Which of the following ‘is-true in the

: temptatlon

sufficient prov1slon - for '

L

9. ‘Eradxcatlon as used in the passaae :

means -
{a) removal (b) destructlon )
“(c) starvation - d) evaporation

context of the passage?
(a) Continued education programmes
. are now adequately funded. .

(b) Al the State govemments ‘have now

fully realised the problem of
- illiteracy. : :

(c) Litéracy = campaigns = in the
pre-independence period were more
" fruitful than the later ones.

(d) Literacy campiign achieved desired
results in the post-mdependence
penod

- Passage 15

Economists, ethicists “and ‘business
sages persuade us that honesty is the best
policy, but their- evidence. is weak We'
hoped to find data that would support their
theories . and thus, perhaps encourage

* higher standards of business behaviour. To -

our surprise, our pet. theories failed - to.
starid up. Treachery, we found, can pay
There is no compelling economic reason to -
tell the " truth -or keep one’s word

: pumshment for the treacherous in the’ real '

world is neither swift nor sure.

" - Honesty is, in fact primarlly a
moral choice. * Business people do ' tell
themselves that, in' the long run, they will

‘do well by doing good. But there is little

factual or logical basis for this conviction.

'Wlthout values, without a basic preference

for right over wrong, trust based on such
self-delusion would crumble in the face of
Most of us. choose: virtue
because we want.to believe in. “durselves
and have others’ respect and belief in us.

- And for this} we should be happy.

We can be proud of a system’ in which~ -~
" . people are honest betatse they want to be,

'not because they have to.be. Materially,

too,. trust based on morallty prov1des great ’
- advantages It allows us to join in great
and ‘exciting ‘enterprises that we could_' .
"!never ‘'undertake if we relied “on: economlc L

' 1ncent1ves alone.

) Economlsts tell . us that - trust 1s_
enforced in ‘the market. place through
‘retaliation ' of reputatlon .If you wiolate a . )
" frust .your victim is" apt to seek revenge

i and others are llkely to” stop “doing busmess

' maximizers are

thh you, at- least under favouzable terms.
A man or woman with a reputation’ for fair
dealmg will - prosper., Thevefore, profit.
honest. .This’ “sounds
plausible enough until jyou look for concrete -
examples.  Cases  that. apparently
demonstrate the awful - consequences of
trust turns out to be few and weak, while
svidence that treachery can._pay Sseems
compelling.
1. What did the author ﬁnd out about the
theory that honesty is the best pohcy"
(a) Itis a useless theory.
(b) It is correct.on many occasions.
(¢) 1t is correct for all businessmen.
(d) It is correct only occasionally.”
2. Why does the author say that.one can be
- proud of the present srtuatxon" Because
people are
- (a) respect seekers.
.(b) honest w1thout compulslon

"+ (¢) unselfish- (d) self respecting
'3, What do econounsts and ethicists want
us to believe? .
(a) Businessmen are honest only at
times. -
-(b) Busmessmen should be honest at all
- times.
"-(c) Businessmen cannot be honest at all
timeés.

" (d) Businessmen turn dlshonest at tlmes
- 4. Which is the material advantage which
“ . the -author sees in: :being: honest? It
. permits, oneto
a) undertake act1v1t1es whloh may not -
" be economically attractive-
(b) be honest for - the sake of honesty
- ‘alone - .
" (c)make a lot of proﬂt in various areas
~ {d)None of these
"'5. Which of the -following is the same’in
‘. meaning as persuade as used in the
passage?
(a) try to convirice
(¢) motivate .
_ {e) give opinion - .
. .6. Which of the followxng is false according
to the passage? '
(a) People are generally honest ‘because
. it pays in the long run. .
(b) Virtuous behavxour earns the self
" respect of others. ‘" - _
(o); Ecoriomists. - believe that all -
busmessmen are dxshonest
(d) Generally people are honest to eam
self-respect.. it

(b) cheat -
(d) give assurance
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7. Why -do buslnessmen, according . to

economists, remain honest? Because
" dishonest busmessmen )
(a)are flogged iri the market place
(b) are always prosecuted .
(¢) can make more money
(d) cannot stay in business for long
8. The phrase ‘stand up as used in the

passage means
(@) hold up (b) get up
{c) supported (d)get establishied .

9. Which is the same in. meaning as the
- word compellmg’ as used in the passage?
(@) coercive b) bl_ndmg
~. (e) forceful’ (d) mandatory
10. Which of the followmg best -describes
. what the author is trying to point ‘out
" through the last ‘sentence of the passage
‘Cases that ........ compelling”?’
{(a) Economists predict correctly - . -
/(b) The consequences of dishonesty .-
- -(¢) The contradictions in the real world
“(d) Theones do not seem to be true

" (Bank P.0. 1995)

.- Two pnncnples are- involved in the
controversy about _-the - presence -of
foreign-controlled media'in the country; the -
‘ree flow of ideas and. images across
national borders and-the need-to safesuard

- the national interest and preserve cultural
autonomy. Both are valid but both are at
loggerhedds because each has.been used to

. promoté less lofty goals. The first pnncrple
conforms to a moral imperative; freedom of

'expresswn cannot rhyme with restrictions

.imposed by  any government. But the free

Pass.ege 16’

- flow rhetoric also clouds' the fact that the .

powerful Western, and’ especially Amerlcan
media can and o_ﬂ:en do present, subtly or_
brazenly,  news in a ' manner whlch
promotes  Western "political, ideplogical and’
strategic interests. Besides, Western enter-
tainment programmes present ‘lifestyles
and values cherished by ' traditional
societies. All ‘this explams why "so many’

" Indian newspapers, magazines and ‘news

agencies have sought ‘protection from the
- courts to ‘prevent. foreign publlcatlons and
news " agencies from ' operating. in - the

country Their ‘arguments are weak on. two ‘

counts.” As. the bitter debate on a new
world information and communlcatlon order
demonstrated -, in "the " late .- sevénties . and
early: elghtles many ‘of ‘those who_ resent
Western “‘invasion’ in- the mformatlon and
'cultural ﬁelds are ho. great fnends of

4

Objective General English

demoeracy Secondly, the threat of such an
‘invasion’ has been aired ‘by those media
groups in the developing countries who fear

that - their'  business interests ‘will ‘be

harmed if Westerni groups, equxpped with
large financial and technological esources

and - superior management skills, -are :

allowed to operate m the country without
let.

The fear is vahd but il goes ‘against
the .gain .of -the economic reform

programme. The presence -of ; foreign -

Tiewspapers - and television channels will

increase competrtlon which,  in couise of

time, can only lead to the upgradation of

dynamlc Indian newspapers . and televrsron o
" channels even while they drive the rest out
of the market. One way to strike a balance
. between - the two antagonistic' principles
“would be to allow-foreign media entry into

the. country, provided the Indian state
treats them. on.par with - the ‘domestic
media on ‘all fronts.'On “the import of

technology, for - instance,’ forelgn media

cannot be allowed duty- concessions denied

to their Indian counterparts. Foreign media

will - also" have " to . face - the “legal
consequences ' should- they run foul of

Indian 'laws; Why, for example should the .

BBC, or Time ‘magazine or The Economist

get away with showing a map-of Kashmlr'

which is af variance with ti:e office Indian

“-map? -Why. should they go scot-free’ when

they allow secessionists and terrorists to

air.  their - views without giving  the .
government -the" nght of repr" Or when -
they depict sexually explicit scenes -which

would otherwise not' be. cleared ‘by - the-
Cersor Board" Since ' the government can

do precious little in the matter, especxally :
about satellite. broadcasts, what if it should =
‘zonsider attachmg ‘the propertles of the

offending parties?. Demands of " this kind -
are bound to ‘be voiced unless New- Delhi

‘makes_it.-clear to the forelgn media that -

they will © have to -Tespect Indian

susceptzbzlmes espec1ally where it ‘concerns
.the -country’s' integrity and its culture. It

may be able :to derive some msplratlon

from France’s successful attermpts in ‘the
‘recént GATT to protect its cmematog'raphlc
- mdustry .

1 Which of the followmg ls'._

prevent entry of forelgn medxa‘7

ne of the .
" points . weakening _.the argument to-

'Comprehension-I

(¢) The foreign media may not be
treated on par with the domestlc
medla

-(b) Such .entry would be against
traditional culture.

“(¢) The arguinents bemg put forth are
.at loggerheads.

(d) The threat being vorced by those

. whose business will be harmed by
such an entry.

- (e) None of these.

2. Which of the following has been. the

. major - recommendation’ regarding the
entry of foreign media?

(a) Allow - entry provided they do not
ask for duty concessions on import
-of-technology.

(b) Allow entry treating- them on par
with domestic media.

{¢) It should be _welcomed thhout

putting any restrictions.
(d) It should not be allowed. :
. (e) None of these.
3. Which of the followmg means ‘w1thout
: let’?
(a) without confmement )
(b) without restrictions ~ °
" (¢) with rio difficulty
(d)with strings .~
* " (e) conducive environment
. 4. Which of the following means ‘at
. -loggerheads’ as used in the passage‘7
(a) opposite to each other :
(b) unsuited to each other
(c) in league with
(d) unimportant '
- (e)out of place .
5. Why should the entry of forelgn medla
harm local interests?
(a) Différent sets of laws and ' rules
were Imade appllcable for forelg‘n

s -media.

(b) Economic reform prog'rammes w1ll
get a setback. - :
(¢) The cultural heritage will be lost.

(d) They are better equipped— manag--

erially and technologically. =
_ (e)None of these o
6. In. the - controversy -involving-- two
.. principles regarding allowing' foreign
. media, which of the following is agamst

its entry?

{a) Governmental’ restrlctlons

(b) Presérve culture

_ {c) Security across natxonal borders : ’

(d) Western ideology -
-(e) Free flow of ideas
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7. Which of the followmg will be the 1mpact
of i mcreasmg competltlon" :
(@) It will improve Indlan newspapers .
and television.
 (b) The domestic media wili not be able
‘to withstand-it.
(c) The Indian news agenc1es will seek
" protection from the court..
" (d)The foreign media will not’ be

- ‘allowed duty concessions on lmport v'

of technology.
(e) None of these

8. Whlch of the followmg meauns - ‘at

variance' as used in the passage?

(a) at large (b) in conformity
(c) variable - d) discrepancy
"(e) differing

9. A country has been cited "as having

succeeded in protectmg whlch of the ’

following?

~ {a) News Agencies (b) Telewsxon
(c) GATT . (d) Cuitural relahons
{e) None of these "

. 10.. .According to the passage, wluch niedia in

particular promotes Western interests?
(a) Western (b) Foreign (c} American
(d) French (e} None of thege -

-11. Which of the following seems:to be-the -

most likely purpose of \snmng this

-passage? . .

(a) To lnghhght me eyoloxtamoq by
developed nations’

" (b) To -make the public a awarg of the
uechnolog*lcar and .
supertority of western media

" (¢) To criticise foreign mediz

“{d)To highiight. the step_.ard c.xutlor

to. be taken about the eqtry of
foreign media )
(e) To. prevent foreign nﬂdm tr_ou_x

entermg cur country

Passage 17

“The recent passa% of the Bill, on
. ‘the transplantatwn of human organs, by
Parliament,. is - long-overdue measure

- aimed at’ curbing \Vldespread traffi t.kmg in

organs, - especially. kxdneys As the ~only

country where kidneys can be transplanted

from donors unrelated to the patient, Indid,
and notably: Bombay, has = gained
.international notoriety as the capital of the
organ_trade. Wealthy :patients from India

-and .abroad, unscrupulous - doctors” and .
" rapacipus = brokers’ have made this a -
letvcrore racket .in - which "the -only loser _

is the impoverishied donor parting wzth an’

managerial: -

(Bank P.0.1995) .




organ: for " small’ money The leglslatron :

strikes at such exploitative transactxons by
stipulating that blood relations and spouses
are. the only live donors’ from whom.
kidneys can be transplanted and ' making
the buying and selling of human organs.a
cognisable offence. By allowing the
transport. of cadaver organs, the.Act not
“only opens rniew avenues;in tle treatment-

of renal failure, where the availability of - -

donor kidneys falls farshort of demand,
but paves the way for liver transplants . for
which expertise exists in :India; The

statutory recognition of brain stem- death,-

which 45 - accepted medical practice ' the
world over, widens the scope of ..cadaver
transplants . by - making_ ‘beating - heart’
cadavers another source for donor ‘organs.
True, the mere .enactment of such:

legislation cannot put. an end to an: -’
entrenched . practice that - thrives  on -
- patronage from - sections of the medical’

community, and political anc public apathy.
‘The delay of ne’a\rly two years between the
introduction of the Bill and its passage and

the ~ attempts of- people with vested -

interests . to . mtroduce certain  dubious
anendments’ are an indication of what the
law is up against. The effectiveness of the
_law will depend,. therefore, on the state’s
determination - to implement - it through’

“vigilant monitoring. The provisions for -

cadaveric transplants will remain on paper
in the absence of public . education :to
encourage the voluntary donation of bodies
and organs overcoming . religious taboos,
- and the setting up of institutional facllltles
for organ retrieval and storage.. Most of all,

" the law rests on the realisation by medical .

professronals that - -ethical -and ' humane
values - must prevail' over  other -consider-
“ations. The removal of organs from unrelated
donors is- almost mvanably a transfer of
-health- from the ‘poor and weak to the rich.
It cannot be defended on any. ground
- 1. Which of the followmg means ‘thrives on
-patronage"’ : :
(a) supports the practice -
(b} confusion by the patron- -
@) prospers on support
-~ (d) fails in spite of support
.. (e) disintegrates - )
¢ 2 ~Which of the following is the meanmg of

--the phrase ‘parting Wlth' as used m the 9. “Which of the followmg means ‘rests on ’

"~ as used in the passage"
~ (@)basedon "

. passage? . )
(a) sacnﬁcmg (b) fall in lme
. '(c) coming together (d) partltlon into’ two

gt v gy

(e) dining with -

Which of the followmg is the reason for
- Bombay gaining international notoriety?
. (o) Human organs like kidney. are

} smuggled here. .

-(b) There " is no leg:slatron agamst_'

kidney transplantatron
(c) There ‘are 1ntematronal underworld
* gangs operating.-

' (d)Even patients from other countries'

. come here for kidney transplan-
tation donated by poor people

“(e) None of these .

Which ‘of the following is’ one of the ’
.- features of the Bill? -
C (@) It allows -for transplant of only :

cadaver organs.
(b) Hefty sum.is to be pald to the donors

- {c) Total ban on kidney transplantatron .
-.(d)Only. blood - relations -and spouses

. .cati be the live donors
(e) None of these

5. Which of -the following would be ‘an
. impedimert  in- getting donatron of _

cadaver organs?

.{a) Sturage problems.
. (b) Religious taboos ' :
- (c) Absence of adequate, Ieglslatron

(d) Effective 1mplementatlon of law

- () None-of these s
. "How much ‘time was spent in draﬂ:rng L
“'the Bill before-its mtroductron"

(a) 2 years. “(b) 3 years.
“(¢) 4 years - - (d) Not specrﬂed
(e) None of these

"Which of the following is not true in the

context of the pa_ssage"
(@) There is a wrdespread org’an
. trafficking of livers. %, .

'_(b) India does not “have: expertrse Ior

liver transplantation.,

'(c). The problems of transplantatron of o
- " -human organs-have been unnecess-
.. arily hrghllghted T -
. (d)The - Bill *. on ~ human’ : organs_
’ transplantatron was needed much :

earlier.’,

" {e) The final Brll has not been passed .

.so far. *

. ‘Whlch of the followmg ‘means prevall :

“over’as used in the passage‘? ‘

- (a) spread along
" (e tnumph

L AB) predommate )

(e) convince

: Passage 18

(d) 1ns1st upon PN

(b) dePendS on I'_- N " B

Comprehension-1

. (bl lingers along  (d) puts an end to
~(e) support M

10. Which of the following can be correctly

inferred from the passage about kidney

transplantatron in other. countries? -

* (@) There. is no- ‘legislation’ agamst
kidney transplantatron in some
- other countnes :

(b) There 'is ban on kidney

transplantatron in some. of the
countries. ' i

" (e) In" ‘other countries, kidney is

transplanted only if it is donated by
the patient’s relative.
(d) There are unscrupulous doctors in
" other countries also.
" (e) None of these

\

The = political system ~° always
dominates ‘the entire social = scene; and
hence those who wield political power are
gererally able -to control 4ll the different
social sub-systems and manipulate them to

" their own advantage. The social gioups in

power, therefore, have always manipulated

- . the education systems especnally when
- these - happen to -depend upen the State for
their very existence, to strengthen and -

perceptuate. their own privileged position.
But herein lies a contradiction. For the
very realization of thelr selfish ends, the
social groups in. power are compelled to
extend the benefits of these educational
systems to the under-prrwleged . groups

. also. - The _mev1ta_ble task’ is ‘generally
" performed ' with - three

precautlons
abundantly taken care of :

their dominant position of. leadersh1p in all

"‘walks of life; -

B. the system is so operated that

) ' _under-pnvrleged groups can utilizé it only’
. ~'margimally in real terms_and the.bulk of
" them -become. either. drop-outs or. push-outs

and get reconciled to .their own interior
'status in society; and - - - -

that survive and 'succeed imr spite of all the

" handicaps-are generally co-opted within the
system to prevent dlssatlsfactron Butf T

: - educatron were miostly confined to ihs .
. A. the privileged groups contmue to .

‘be . the principal beneficiaries -. of -the
- educational system,- dominate. the’ higher
" stages of -education or -the hard core of
. prestigious and quality institutions or the .
- most useful of courses, so as to safeguard

C. the few from the weaker sectlons b
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“education is es_sentially: a liberating force

so- that, as - time - passes some

"under-pnvrleged ‘groups do manage

become .aware of the reality, the nuniber of ' .
the educated persons. soon ‘becomes too
large to be fully. co- -opted, and many able -

-individuals among them strive to orgar_lze

‘end . liberate the weak and - the
under privileged. Tke resultant awareness'
of -the- people;. combined with, suitable
orgamzatron necessary leads to. adjustment
in the social’ structure and to an .increass
in vertical mobility so that new groups
begin ‘to" share power. Eventually, “other
social changes. .also follow. and the
traditional, inegalitarian and hierarchical

“social structure tends to be replaced by
- another which

~ more -modern, less
hierarchical and more egalrtanan The
educational 'system, therefore, . is never
polrtlcally peutral, and it always performs
three functions simultaneously viz, it helps
the priviléged to dominate, domesticates
the underprivileged to their own status. in-
society, and also. tends -to liberate the
oppressed. Which of -these functions shaii
dominate -and - to what -extent, depend~.
mostly on. one crucral factor, -viz, ‘the
quality. - and - quantity " of the political
_education which _ the system provides. or
upon its. polltlcal content’.

The developments in Indian socres*,r
polity and educatioh during the past 175
years should be -viewed -against the bax:l~
ground- of this broad philesophy: From very
ancient times, the Indian' society has
always been elitist’ and power, wealth -and

upper castés .of . the society. What
‘impertant’ to note is that the system has
an infinite capacity to adjust or-to absori:’
"and, for ‘that very Teason, it is extremcl\ '
resistant- ‘to any radical transformatron

The social system contmued to exist almos?
unchanged till the ‘British administrators

. began_to lay the foundatlon of the modern

.System of education. . .
1. Which of the following statements is na% -
" true in the context of the passage?

{a) The pnvlleged groups try to depnvc
the have, nots " of the real beneﬁts of
educatron

(b) The educatlon system is  never

’ pohtlcally biased. o




(c) Educational  system tends  to
enlighten the minds of the under
privileged.

-(d)The privileged class depends upon
the Government for their survival.

(e) Credit for bnngmg modern system
of education goes to Britishers.

2. According to the passage, the Indlan
society has always been

(a) politically neutral

(b) insensitive o the needs .of ehte .

groups
(c) conscious about the suffenngs of the
underprivileged :
{d) less hierarchical
() None of these |
%. Which of the followmg is the "most
opposite in meaning to the word ‘radical’
as used in the passage"
(@) superficial - (b) simple -
(¢) slow - (d) narrow, )
4. How ~does ‘education work ~ for
ameliorating . the lot of 'the - under
privileged classes? °
(a) It encourages them to domestlcate
- the privileged people.

(b) It helps' the underprivileged people '

to dominate others.
(c) Some educated ‘persons from thlS

class org_mse and llberate the weak
people.

S )Tt helps them to achreve hlgher .

goals in life.”
5. In the context of the passage whlch of
" the. following statements is true
regarding . those .'who - control polrtlcal
power? .
“(a) They facilitate the upward moblllty
_ of the underpriviléged classes..
(b) They.try to establish a just social order.
- (¢) They facilitate the upward - mobrht:y
" of the privileged classes. ..
(d) They try to contml all the drﬁ'erent
social sub systems.
6. Sharing of power by new groups is’ an
outcome of
(a)increase in' the vertrcal mobllxty of
the underprivileged groups.
b)a liberal democratlc approach of the-
pnvrleged class . .
--(cy the  total replacement of the
tradrtlonal soclal structure by a
. modern one ’
Da polltlcally neutral educatlonal
system '

uu_/cu.wc wrenerut ungusn

"T. According to the passage, why do the
majority of underpnvrleged groups

become drop-outs?-

(a) They constantly . suffer from the
feeling of mfenonty

- (b) The system is so mampulated that

‘they cannot ufilize it meaningfully,

(c) They do not possess the. required

- intellectual potential to survive in
the educational system.

the major beneficiary of the system.

8. Accordmg to the passage, the social . =~
groups in nower have manipulated the

- educationa’ system because :
(a) they wanted to' make it polltlcally
neutral

(b) they 'wanted to ‘give maximum.

benefits to the underpnwleged
(c) they wanted to “introduce -social

" changes through the educational .

system:

" {d) they wanted to preserve their -

speeial status.
(e) None of these

9. The Indian social system is resnstant to-

the maJor ‘changes because

(2) it is basically elitist.

(b) it can absorb'social changes w1thout
changlng its basic frame-work.

'(c) it is extremely tradltlonal and -

conservative. -
e power, wealth and educatlon are
" mostly confinéd to the upper classes.
16. Accordmg ‘to the passage, social groups

in power extend the benefits of education *

"¢ tothe under—pnwleged groups because -

(a) they ‘want to achieve thelr selfish .

objectives.

‘b) they want_to ‘create an egalltarlan :

society.
(c) they have reahzed that the g'rowth
of a nation (depends upon the’ spread
of education. - )
(d)they - 'want to abdlcate thelr '
dominant position of leadershlp in -
- all walks of life.

Passage 19 (NABARD, 1994)

Though th® US. pndes 1tself on

being a leader in the world. community, a
recent report showsthat it lags far behind -
other -industrialised countries in meeting

..the "needs . of "its . youngest - and . most .
* " vulnerable citizens: The" US. has a higher -
‘iofant: mortality rate, .a hlgher proportlon

of low bxrthwelght bables " smaller -

- immediate  and- -

(d) The pnv1leged class continues to be "

v unplanned

. bompreucu.swu ’3

g 'proportron of babies unmumsed agamst .

childhrood diseasés and a much higher rate

of adolescent pregnancles 'I‘hese ﬁndmgs,

described - as & qulet crisis” requiring
' far-reaching  action,
appeared in ‘a.report prepared by a task
force of educators, -doctors, - politicians and
business people. Accord_mg to the report , a

" fourth of the nation’s: 12 million -infants

and toddlers live in poverty. As many as

half confront risk factors that ‘could harm

their. ability to develop intellectually, - -~
.~ .physically and socially, Child -immunisa-
" tons are too low, more children are born -

into: poverty, more are. in substandard care
while their parents: work and more are
being raised by single parents. When taken

’ together these and other risk factors can’

lead- to educational and ‘health problems )

reverse
“The- crisis begms m the womb with
parenthood Women~ with

- that ‘are much harder and’ more costly to E

unplanned pregnancies are less hkely to -

ll seck pre-natal care. In ‘the: US. 80% -of

‘teenage pregnancies ‘and . 56% of - all

pregnancies - are unplanned.” The problemsv

continue = after birth’ -where ‘unplanned -

'-pregnancles and unstable . partnerships

often -go hand. in" hand. Since 1950, the -

number .of single-. parent’ families- has
nearly tripled. More than 25 percent of all

. births . today are to unmarried mothers. As
the number of smgle parent families grows.

‘and more women enter the work  force,

"infants .and toddlers are ‘increasingly in. the'
" “tare ‘of people Gther than their parents..
Most dlsturbmgly, recent - statistics . -

show that American parents are increasin-
‘gly. neglectlng or -abusing their children. In

only four years ‘from 1987-1991 the number

of children -in foster care increased by over
50 percent.” Babies .under the age of one

- - aré the fastest growmg category of children
.. entering fostet care.’ The - crisis affects -
children .under - the ‘age of three most

.severely, : the .report. says. Yet,. it. Jis this
penod—from infancy through preschool

‘years-that . sets, the - scage for ‘a: chlld’

" future.
1 The main focus ‘of the. passage is on the
phght of . . oo
o ,(a)orphaned chlldren _
(b)teenage mothers

" {c) low birth welght babres

o (d)unwed mothers

ey None of these

-2, Children falling in which age group are
most severely affected by .the ‘quiet
crisis”?
(a) Below 1 year ()] Below 3 years
(c) Between 2 & 3 years
(d) Between 1 & 3 years
(e) None of these

'3. Which of the followmg .does not

constitute the ‘quiet crisis’in the U. S as
per the task force report?

with normal weight -

(b) Higher iacidence of adolescent g1rls B

becoming mothers

(c) Lower rate ‘of babies surviving

" childhood dlseases

_{d)Larger proportlon of babies who are.
deprived of immunisation . =

(e) Increasing cases of teenage couples
getting dxvorced

4. Which of the following statements is not-

true in the context of the passa_ge? .

(@) The number . of.  single-parent
families today is approximately
‘three times that four decades ago.

. (b) The number of chlldren in the U.S..~ -
entenng foster .care has decreased .

_ after 1991.

(c) In the US, the num"\er of infants

:-living in poverty is- -about 3 ‘million.
(d) Only . 20° percent of all . the

pregnancies in the U.S. are planned. .

(e). About 6- million infants in“the U.S.

are likely to develop educatlon(.l

- and héalth problems.

5. The number of. children- born to married

mothers in..the U.S. is approximately
how many times the number of chlldren
born to unwed mothers" o

-(a) 1.5times - (b) 2 times

~(c) 3 times. - (d) 3.5 times -

" (e) Not mentioned in the passage :

6. Children born .out. of unplanned
pr'egnar'iciés " are highly vulnerable
because - .
() they are ralsed by smgle parents
< ' (b) their parents,are mostly poor:: .

(c) they are mostly’ malnourished.

(d)they. are less likely - to receive

prenatal care. -

(e) their ‘parents '.'are_' - emotlonally_

1mmature

- 7. Decxde which of the followmg factors is/

" are - responsible for . the physical,

" intellectual and . Social - under-,

development of mfants inthe US.? " -

(a) Lower proportion of new bom bables .




100 | . )

A llllteracy of parents
B. Lack of parental’ care -

. C. Poverty
"~ {a)Only A (b) Only B
(c)OnlyC - (d) Both A&C
(e) BothB& C -

B. Ani 1ncreas1ng number of mfants in the
U.S. are in foster care on account of

{a)an increasing -number of single '

parent families - with the. .. female
member workmg

"'(b) an increasing number of women
" maintaining’ the" status of unwed
'motherhdod " ‘and becoming
economlcally independent

(¢ an increasing number: of employed-

couples who are requ.lred to stay apart’

(d)an increasing number of women

gettmg divorced and - abandomng
their babies

(e) an increasing numbér- of parents -

: who'lack awareness about baby-care
8, The task force report seems to be based
on the data pertammg to the period
(a)'1987:91 .
(b) 1950 onwards till date
(c) 1987 onwards till date -
(d)1950-91 ()'1991 _'onwards tiil date
Directions (Q 10:12) : Choose the
word which is most nearly the same in
raeaning as the gwen word as used in
the passage. : ‘

19. CONFRONT : o :
" (a)Face- . - - (b)Tolerate -
(c) Succumb - (d) Eliminate

' (e)Oppose .- .- . . .-
il.. VULNERABLE - :+ =~ - - -~
(a) Insecure ., _(b) Indispensable
- () Risky . " (d)Promising -
- (e) Delicate : AR
12. ABUSING - . o
(a) Cursing ~ (b) Beating
(c) Il treating - (d) Accusing
(e) Oppressmg ‘

Directions (Q.- 13 15) : Choo_se the .

word  which . is’ niost opposité in
meaning fo the given. word as used in.

* the passage.

18, SEVERELY - ¢ ¢ - .
i (a)-Drastica‘lly o '(b)‘Intensel_y_ o
(¢} Minutely © (d)}Normally = -
g {e) Slightly: ' o
14. UNSTABLE S
. ".(a) Changing".- (b) Steady ..
S () Stagnant "..(d} Confined " .
- -(e) Constant e

oucbuuc Tenel UL LIgLLSIL

15. SUBSTANDARD . :
(a) Impoverished ' (b) Compassionate -
-(c) Excellent - - (e) Valuable -
-(d) Beneficial : o

. Passage 20

“The hlstory of llterature really began

long before man learned to write. -Dancing .
was the. earliest. of the arts. Man- danced -

for | joy round his pnmltlve camp fire after
the defeat: and slaughter of his.enemy. He
yelled and shouted as he danced dnd
gradually the yells ‘and shouts became

coherent and caught the. ‘measure. of the
. dance* and thus the first war song ~was

sung. ‘As theidea of God developed prayers
were “framed. The songs and ‘prayers

became traditional and were repeated from . .
one generation-to another, each generatmn =
. adding something-of its own..

As man slowly grew more ClVlllSed -

‘he was.compelled to invent some method of

writing by three urgent necessmes ‘There

were certain things that it was dangerous

to. forget and" which; therefore, had to be -

recorded. It was- often necessary .

. communicate w1th persons - ‘who were some__' :
-distance. away- and 'it .was recessary to . .

protect one’s . property 'by making ‘tools,

cattle and so “‘on, ‘in. some dxstmctlve,
N manner So. wman- taught himself to write .

and’ having ‘learneéd to write purely for

“utilitarian . reasons he ‘used - this . new .

_metnod for preserving his. war songs and -
his ‘prayets. Of course, among these ancient "

~_ peoples,. there were only 'a’ very few -
- individuals who learned to write, and only ‘
_a few could read what was wntten

1 - Before man invented writing

__(a) literature was passed on bv word of '.

mouth.
= (b) prayers were consrdered literature.

{c) literature . was. Just sugmg and -

dancing.
(d) there wa’s no llterature

2..-As for the war songs -and - prayers each .’ .

. .";.xgeneratlon
““(a) added. somethmg of its own to the
.o stock :
"(b) blmdly -repeated the songs anli
- prayers

. (¢) composed its own songs and prayers

__(d) repeated w}'at has handed down to o

it

: 3. The first v war song

" .".(a)was inspired by God - ,
R (b) developed spontaneously

LU e -

. (c) was a song traditionally handed Gown
(d) was composed by leading dancers
4. The warsong evolved out of .
(a) creative inspiration
_ (b) there was noliterature .
“ (¢) artistic urge
(d) yelling and shouting .

" .- Man invented writing because he wanted

Aa) to be artistic .
_.(b).to write war song
(c) to write literature
(d) to-record and communicate
' 6. The word ‘measure’ in the context of the

passage means’ -
- (a) weight _ (b) rhythm
(c) size o (d) quantity

" Passage 21 - (L Tax&Central’Excise’, 1994)

. The stock taking done "at the ﬁrst
national convention on consumer protection
served to highlight the areas that called for
special attention to sustain- the momentum
of the movement as genuine forum for safe-’

- guarding the peoples interests. Spreadmg
awareness  -about the rights ~of the

consumers and the relief open to “them in

case they did not.get their. money’s worth

of goods and services has rightly been
1dent1ﬁed as the first prlonty While this
may not be a difficult task in urbah. areas,

" where the movement is . concentrated at .

present, - taking it - to- the vast rural

- hinterland calls for a multi- media approach

in which radio and- telev1smn have a
crucial role to play. ‘The -involvement of the

. 500-0dd consumer organisations in the

country . in publicising the concept of fair
trade practices’ and the remedies available
against "~ their. ‘violation will | prove

rewarding, if the message is conveyed
. through village bodies.

Government efforts remain . confmed
at best - to setting. up the: l-m‘astructure

after’ the formal launeh of the movement
- with - the enactment of the -Consumer
.- Protection - Act.” The mountmg backlog -of -

cases in consumer courts, noints to the
need for toning -up - the dlstnct level

. redressal ‘machinery.

] The main ohjective of the movement
is ‘the creation of a culturé that denies

- place in the. market for products that- are
- . _not consumer frlendly This is possible only

if consumer-bodies  take over the watchdog

" role performed by the Government till now

and exercise social control over the market

~ to see that the beneﬁts ‘of llberahsatlon are

"not reaped by traders’ alone But the plea
“to industry to exercise self- regulatlon and

maintain minimum standards, of quality

~and -devise appropriate pricing is bound" to
 go unheeded "unless strict measures  are

taken to ensure compllance ('Tax, 1994)
1. The first national convention on
Consumer Protection has
(a) hrghllghted the areas for specral
attention
-(b) spread awareness ‘about consumer
rights -

(c) specified ‘in rellef open to the .

consumer
. (d)givenita momentum °
2.. Consumer Protection Act proposes to
give the consumer protection against
(a) highly priced substandard goods
(b) cheating . by sellmg substandard
goods .
(c) not getting his money’° worth
(d) denial of relief if the produ"t is not
upto the ‘mark ;
3. Government coniributed to .the
Consumer Protection Movement by -
(@) toning up a d1str1ct level redressal
- machinery -

* (b) clearing "the backlog cases ‘in the_

consumer court
(c) setting by infrastructure.

Ad)enactment - of - the Consumer -

Protection Act . ..
4. Spreading - Consumer
" Movement to the rural areas, needs
(a) official patronage :
- (b) a multi-media approach
(c) consumer’ orgamsatlon fo - canvass
* this

(d) message to be’ conveyed by v111age .

. bodies
5. Role of consumer bodles is

(a)To maintain mmlmum standards of

" quality -
(b) To function as a watchdog

() To -make a plea to mdustry to -

‘exercise self control -

market
Passage 22

Power and possessxon have been
ceniral pursults of modern civilisation for :a
long time. They blocked out or - dlstorted

other features”of. the western renaissance =
(revival)’ which . promlsed so . much " for -
humanity. What people have béen and are . -
still be1ng taught to prize are money,-'

Protection .

(d)To exercise socral control over ther_"
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success, control over the lives of others, -

acquisition ‘of .more - and -‘more objects.
:Modern social, .political, and economic
systems, whether . capitalist, fascist -or
communist, -reject. .in their working the

basic - principle that the free and creative
_unfoldment of every man, woman and child
is the true measure of the’ worth .of- any'
requires
’understandmg and - imagination, integrity .

‘and compassion, cooperation among’ people.‘ ’

society. | Suc¢h infoldment

and harmony between . the human species
and the rest of nature.: Acqu1s1t1veness and
the pursuit. of power ‘have made the
modern’ ‘man --an aggressor agamst
everything that is non:human, an exploiter
and- appressor of those. who are poor, meek
and unorganised, a pathological type which
hates and distrusts-the ‘world and suffers
from both acute loneliness and false pride.
The neéd for a new renaissance is

- deeply . felt by_ those . sensitive and

conscientious men and  women- who ‘not "~ ’
-7. The western renalssance could not ‘make

» total impact . on today’s humanity -

only perceive the dlmanswns of the -crisis
of our age but who also realise that only

through conscious ‘and cooperative human
effort may this crisis be met and probably

even overcome.

1. The author appears to be advocatmg .
- which of the following approaches to be -

‘adonted by the society?

(a) Capitalistic b) Commumst
(c) Humanistic d) Authorltanan
“(e) Socialist

2. Which of the following best descnbes the

behaviour of modern man?
(a) Imaginative and sympathetic
-(b) Cruel and greedy . .
- (c) Conscientious and cooperative
(d) Perceptive and creative )
(e) Seeker of truth and non-violence -

3. According: to, the passage, why has

"modern man turned out as an enemy of
everything that.is non-human?

(a) He hates. and '(llStTUStS other: human .

beings. -
{b) Non-human - have
. cooperation to human beings.
- (¢) He has been dominated by drives of
: acqu1s1t1veness and power.

~(d) He consciously .practises spmt of ‘

:cooperation.
- (e) None of these

T 4 “Which of the followmé statements is not

_true in-context of the g1ven passage?
_.(a) POWer and possessmn & hand in hand

'refused’ g
10.

" .-"(¢) Spiritual -

11

- Objective General English

(b)There is a need for a new
renaissance.

" (c) Poor and weak people are oppressed

by the modern marn.

(d) The modern 1 man is not 1nd1v1duahst .

_(e) Western - renaissance -had "held so
much promise for the mankind.

: The real attainment of any society can he '
. adjudg:* by which of the following?
- (a) The encouragement for acqulsxtwe .

tendenc‘es

(b Total’ v1ct1mlsatlon of conscnentlous '

. persons

" (¢) The degree of freedom for pursumg

more and more power

" (d) Strict: adherence to- authontanan

structure. -

* () None of these | : .
Which of the followmg is one of the require--.
. ments bringing out the best in man?

(a).Money (b) Success- :
(c) Power (d) Understanding
(e Aoqulsltlveness

because

(@) it was conceptually weak;

(b) it was against basic prmclple

(c) conscientious men opposed it,

(dold .civilisation was .based on'

acqulsltiveness “and control ‘over

_...others. -
{e) None of these -:

" The auther. hopes that. the present cns1s f .
‘can be solved by -

(a) devoted individual eﬂ'orts

. (b) different political systems .

() purpose and collective human eﬂ'orts
(d) spiritually developed individuals -
(e)powerful elite human beings -
The modern value systems encouragé ‘the

" importance of which one of the followmg’7

(a) Craving for power and possession

A{b) Basic respect for.all. individuals.
'development of - all -

individuals

" (d) Spirit of inquiry and lmowledge

(e) Recognition of freedom and: equality -

Which of the following is most apposite

;. "in meaning to the word ‘central’ as used L
*-in the passage? i ‘
--(a) Lateral

. (c) Peripheral

* (¢) Insignificant .

Which of the followmg is. most nearly th,e .

o samné in meaning as thé woid- rest' as.

- used in the passage7
e a) Partial"-

. {(b) Inadequate.”
‘_(d) Major' ‘

(b)fterrammg . e

) 'Com'prehension-I . N

. @Belax . @AN
" (e) Everythmg

12, Which of the followmg is most opposrte. ‘
" in meaning fo the word ‘deeply as usedr

inthe passage” '
(a) Widely - - (b) Superﬁmally_
(c) Wrongly (d) Openly

- (e) Intensely

" 13. Which of the following is most nearly the

same in meaning as_the word met as-
used in the passage? =
* (byFound

(o) Introduced » nd

(c) Dealt with . (d) Discovered

(e) Satisfied w1th T
Passage 23 . - (Bauk P.0. 1994)

; What is- the future which awaits. our
¢hildren? The underlying ‘assumption of the
questlon that- Indian: children have ""a

‘common future is itself dubious. It-can
legitimately , be asked whether a student
- who is wellfed, attending a boarding
"~ school. in - the . salubnous climate of theé’
hills, . and. learning 'to’ use’ tomputers has

any future in common with a rhalnourished

-child 'who goes to a school with no black
boards, if indeed he does. go to school. The = -
latter may have’ no worthwhile future at )

all. And it might be worthwhile to analyse
the significance of this marginalisation of

" more than 75 per. cent of _the -children of
. this country.

The fallure " to. i

villages of India -more than 40 years after

. Independence is in sharp contrast with the
. sophisticated institutions, . “for technical

institutes. of- higher education are funded

. by, government which. essentially ‘means

that the money to~ support them comes

from taxes. And smce indirect taxation

forins a  substantial .part. of the . taxes
collected by the government, -the financial

- burden is borne by all the people. LK. Jha -~
put it -graphically when he observed that

25 puise of every rupee spent on educating

“an, IIT student comes from the pockets. of

men and women whose ‘children’ may never
enter a’proper classroom. .
1. The author is trying to hlghhght Wl'llch of
the following? " -
{a) The greatness of L, K Jha

L f t f r-
(b)Need  to have common re. fo : ‘preconceptrons above development.and this,

Indian children-
" (c)-Need of sophlst)cated educatlon for
rural poor - :
A Faulty system of drrect taxes -

'prov1de “an”
infrastructure- for primary education in the

©apy -

" (e) None of these

:"2_.:" What. seems to be ‘the llkely ‘answer of :

_ the author to the question pesed by him "
in the first seritence of the passage? . S
A. There is no common. future for the

- Indian children.- . .. .

-B. The ; future - is worthwhile "_for

- 'majorxty of Indian chlldreu )

- C. The majority  may never enter a .

- proper classroom.

"~ (a)Only A

(b, Only B ,
(c)OnlyC S (d) Both Aand B
(e) Both B and C

. 3. Which of the followmg palrs have been 7

""termed as ‘sharp contrast’ by the author?
I." Infrastructure for technxcal
" education
L. Lack -of - mfrastructure for rural
pnmary schools . =
TII. ‘25 paise ‘of every rupee earned by :
: . Government is spent on education.
' IV The -fiancial burden- of higher
" technical educatlon 1s borne by all

‘people. 3
SV T5% of chrldren have h_r'mted.
.. opportunities. Lo :
(@I &IV (b)II&III o
(o) I & TV (d) T&II .
@IV&YV

-4. “According to the author, who among the :
", following does not have ‘a hopeful ‘and a
prosperous future? .
A All- - students - 'from
"institutes . - ' o
‘B. All students ﬁnanc1ally supported :
by the Government e
{a)Only A~ by OnlyB T
‘(c) Both Aand'B (d) Neither Anor B
) (e} Not mentioned in the passage = -
‘5. ‘Which of the followmg statements is not
" true? :
A The author
initiative on pnmary education.. .,
.B. 75% of the chlldren have a bnght E
: future -
C.. 25% cost of educatmg a, technocrat
comes from poor people. : :

techmc’al _.

welcomes Govt’s

" (@) OnlyA - “(G)OnlyB. " .
(c)Only C (d)OnlyA&B -
(e)OnlyA&C

Passage 24

. The past decade has. upset many"'_'-'

more ‘than. anything ‘else,. “makes it difficult
to be overly definite about ‘what the next -
decade has in store But there are a few: -




-disarmament.

FRVIVEES

.things that - one can assert with some
confidence. - Firat, education, health "and
productive employment are crucial both for °

growth and for equity. We have tended to
assume that all of ~ these are the

consequences of rapid economic growth and .

that only growth .can generate the
‘resources required for these purposes. But,

mcreasmgly, it appears that these are .

better seen as the causes rather than as
consequences of - development. Virtually

.every case of successful development:

involves - a :prior. improvement -in li* eracy,

- technical skills, health status and access to

productwe work.

- Second, technological . competence is
the most important resource endowment

.-and it ‘explains a far larger proportion of

growth in output and - trade.than more

_.conventional factors like natural resources

or capltal accumulation. The competence

-required is .not just in research. In fact’

technolog:cal dynamism in’ the factory and
the’ farm is more important than the
presence of large research establishment.

Third, the environmental imperative
can no longer. be ignored. Today, as an
international issue, it is second only to

neglect are increasingly obvious.

In the Indian context "there are
- atleast two further factors which reinforce

the above propositions. . The first is
population - growth. Given' the pace. of

‘expansion of the population and the work

force, - human . resource  development
acquires ‘an added urgency Population

growth is’ also one, but not necessarily the -

. most important factor, which - underlines -
. environmental stress in rural and urban . -
_ areas. The ‘second factor is that as a large '

_ country we cannot ‘carve out .an.
- independent position in the global system .

without building up a substantial capacity
for. self- reliant growth. The acquisition of

. technical competence is crucral for this "
" purpose. )

Until now we have tended to treat

‘himan resource development, technology .
- issues  and environment .as subsidiary - to
© the main task of planning. The thrust has
expansion-* of
'mfrastructure ‘and ‘production with a focus
on._production -targets like tonnes of steel, -
‘kWh of electncrty etc.; capacity targets hke

been on: Quantitative

{

Nationally,” the . develop--
mental - cousequences .of- enyvironmental *

vojective ueneras Lnglish

‘road  length, rail kilometerage; and

coverage targets like number of schools and

students, number of, villages -electrified -

etcetra, . catching wup with  known
technologies —Fuller use * of natural
resources - —Maximum moblhsaton of

fnancxal resources.

1 Wh‘at seems to be the purpose “of the
"authorin wntmg this passage?

~ (a) To appreciate the steps taken by our.

Government in the-past and doubts
- about future

(5) To show how the pohcy makers have

failed -

{c) A . review of ‘world affalrs w1th
‘special emphasxs on developed
.countries -

. (d) Review of .the past w1th a view to

-evolve positive directions for future
() To prove how his predictions have
) turned out to be correct :
2. Accord‘nig to the passage, we have so far
" placed more emphasis on which of the
following?
(a) Optimum - use of- avallable natural
resources

* (b) Increased number of basw faclhtres ‘

- and meeting number targets

~- (c) Maximum utlhsatxon of avallable :

finances ’
) Followmg known technologles
(e) All of these

" 3. 'According to the author, whlch of the.

. - following factors support’ and strengthen
- his point of view?.

" A. Necessity for' carrying out growth on ,7 -

. the basis of our own “strength
‘B.-Increased emphasis on productlon
and coverage targets oo
" (a) Only A- " (b)OnlyB-
“(c)Either AorB’ . (d)BothAand R’
" (e) Not mentroned in the passage . '

4, According to - the author, which: of the
following is. a- less' important factor
resulting in environmental stress in
rural and urban areas?

_ (a) Increase in capltal accumulation - -

(b) Rapid economic growth - "
(c) Rate of growth of population

(d) Availability of productive employment -

_{¢) Continued environmental néglect

'B. According to the author, at the national )
level, with passage of time, the effects of -

- _Whlch of the following are bemg felt? -

- (@) Expansron of - work force of hlgh 2

quahty

vomprenensiun-i

(b) Lack of -attention ‘and action : for -
protecting environmental wealth

(c) Reduction [in  growth 'rat;e of
popalatlon

. (d) Progressive deg’radatlon of technolo-’

gical competence in urban areas .

(e) Emphasrs on slow rate of disarma-.

6,

- (a) Optimum self reliance is the need of -

L) .

ment as compared to other natlons

: W_hich of the folloWing statements is not

true in the context of the passage?

the day.
(b) We will have bright future by only .
catching up known technologies.

" () We have to now emphasise aspects

of human resource development. -

(d) Technologlcal competence has to be™
given due priority over more conven-

tional factors. .
(e) We cannot afford to ignore "the
importance of environment.

) 2 (a) "?'_ -3’--(d)_'. A (@)

‘ _ Passage 3 -
L@ 2n® 3@ 4G 5
S 1200 18.@ 4B 15 @

0L

(¢)OnlyA .- b)OnlyB - .

(c) Neither AnorB (d)Both Aand B

- (e) Not mentioned in the passage -

. Directions (Q. 9-12)-: Choose the
word which is most nearly the same in

. meaning as the given word as used in .

the passage.
9, PURPOSE . L
" (a)effect.  (b)ability (c)outcome .
* {d) reason (e) use - - S
10." CARVE : S o
- (a)drive (b)cover - {c)yforget. -
. (d)decide- - (e)acquire
11. LARGE - - : e
(a) long - (b) free- (c) uncontrolled
: (d) big (e) dwerse :
12. CATCHINGUP v o
- (a) coming down -~ (b)lifting up
= (¢) drawmglevel with (d) leadmg from
(e) throwing up

‘Directions (Q 13 15) ¢ Choose the

word ‘which is opposite in meaning to
the given won;_l as used in the passage

7. According to the author, which “of the 13. TREAT
following cannot be v1ewed as cause of . (a) consider (b) drsregar 4
development? _ '(c) dislike " (d) misbehave
(a) Betterment in health services (@) unwind i
(b) Increase in underemployment 14, REINFORCE -
(¢) Speedy economic growth ) @ strengthen '(b) remove-
(d) Enhancement mlt:,chmcal slulls ©weaken . (d)delink .
e) Improvement in literacy : L .
" 8. (\V)hatpseems to be the approach of the - 15. g{,%;‘g;fy : y B
" ~~author regardmg present status of _ (a')'casually' (b) certainly
. research? - () insignificantly- . (d) minutely
- A. He desires that moré ‘research (¢) inwardly o s
establishments should come up. P _
B. "Application of new technologies in -
‘factories and field is more vital than-
_setting up of research laboratorie_s.
ANSWERS
) : Passage 1 ] _ _ ,
L@ (2. .8 @ 4. '5..(a) 6 '7.(@ B.() 9 10.()
11 N I ‘ v :

" Passage 2 - ;
5@ 8 T@ B0 c8.b) 10, (b)
Cd) ) 12.@ 1B.©@ 4@ 150 - -

6.6) 7.0 ‘-8...(a)- 9. @-10. ()
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